NAIR Assistant Personnel Officer APO

Topic:- APO_PA_NAIR25FEB

1) Under which Rule of Indian Railway Establishment Code, Volume-l, the
Authority higher than the Appellate or Reviewing Authority, as the case may
be, can reappoint a Railway servant, in cases where an appeal was
preferred or review was done and the action of dismissal, removal or
compulsory retirernent from service was upheld on appeal / review by an
authority other than the Railway Board?

ARG (o TUOA Giean, @S- & e 909 & doa, e a1 gee
qiftIr & STaat afee, S off A 6, Y v Yo Sear o Y
Toraeer o0 Teha &, UR FIRl & ST rdiror chr 1S off 2 wettaT By avE ofy 3T
YT @S o ol fedT Hed IITeeTiT ey AdTel/ S 16TT 0¥ §aT ¥ S@Teae,
Sseras a1 Aard Sarf=gia & @t @1 IR=m ar?

[Question ID = 111][Question Description = Q01_APO_PA_NAIR25FEB]

, Rule401.
o 401

[Option ID = 441]
Rule 402.
ot 402

[Option ID = 442]
Rule 403.
T 403

[Option ID = 443]
Mone of the given options is correct.

feu 7w Towedl 7 § #15 off §6T 75T 61
[Option ID = 444]

Correct Answer :-

Rule 402.
foraeT 402

[Option ID = 442]



2) A Rallway servant who has acquired lien on a post retains the lien on that
post, ..........
In this regard, which ameng the following is NOT CORRECT?

A. during joining time on transfer to another post, unless he is transferred
along with his title to a post on lower pay.

B. while on leave.
C. While under suspension.

D. While on foreign service/deputation, overstayed beyond the maximum
limit admissible under the orders of the Government issued from time to
time.

U 0 FHATd 5 Rl ae 97 agonfesi 2, 9% 36 92 9 AEUnTeY ——

TR TG

57 Hay A, FeATAd # W Fid 0 WeT AT 87

A. frdlr 319 92 T BIRIEOT 9T FEEE 20T FId THY, 9 OF [ 39
3% U, TIEed & WY fAeasw 999 9T ST T Aal (kT ST &1

B. §edr W @/ WHI

c. Feaa FuEyg

D. farger Fam/sfafagfEa o0 @ §8T, TRT-FAT W A W F 3090 F
Aga T 3fUFas 9 T § 31 99T % B0 AT

[Question ID = 112][Question Description = Q02_APO_PA_NAIR25FEB]
A only.
FaTA

1.

[Option ID = 445]
C only.
thadl C

[Option ID = 446]
D only.

> hda D

[Option ID = 447]
Mone of the given options is correct.

TEU AT Tdwodl § A &is ofl der =i ol
[Option ID = 448]

Correct Answer :-

D only.
thao D

[Option ID = 447]



3)  Which ofthe following is correct about the retention of lien on selection on
the basis of the forwarding of application?
A If a permanent Railway employee is selected on the basis of his
application for posts in other Central Government Department/Offices,
his lien may be retained in the parent department for a period of 2 years.

B. Temporary Railway servanis with less than 2 years' service will be
required to sever connections with Raillways in case of their selection for
outside posts.

C. When a permanent Railway servant has joined a depariment/office
where he is not confirmed within a period of 2 years due {o some
reasons, e may, in exceptional cases, be permitted fo retain the lien in
the parent depatment’ office for one more year

O. When a permanent Railway servant has joined a department/office
where he is not confirmed within a period of 2 years due to seme
reasons, he may, in exceptional cases, be permitted to retain the lien in
the parent department/ office for one more year, which can be further
extended for one more year with the approval of nexi higher authority .

Hrdga HATUT & o HUR I T8 W AGUNTEHER ahiR 10 & gae &

TerFafeiad & & wlaar e g?

A 7t faey ur Yord FHa &1 39 H19eH & HHR W 5 TEN & 3J0d
feumvEmET & 98 & AV T A 8, 7Y SR TRUNHER 2 [ 6
rafer & TorT #er fasimer 37 e @1 o1 Tehell &

B. 2 @9 ¥ & Har arel JEURT {a SHAG] & a6l Ugl & fav 9399 &
FTHT 3 T8 & T Fell TWe1 bl AT Tencll G|

C. ST Ueh FUTH] X7 o=l i fehell O Fasmmanenraiiors 1 #1cf g5 & ool &0
HIROT & 2 e &1 37T o 1 ITHT I 81 65 &, ol SR A
#, 39 o fasmerFERias & v 3R a9 & F aponfhewn aane the
AT &1 1 Febell 1

D. e T T Io7d Sl b Tohall O3 TareuaTaiord & o7l 65 & <i6l 36
BRI T 2 TleT &1 37afel & efic 3wehl 9fe 761 §5 &, ol SRt Aal
A, 30 A [AEEvER § Ue w9 $ aate F v agonfher @
T 1 et & s ¥, T 3o iR & e & o Hvad &
fere arerar ST Fehar o

[Question ID = 113][Question Description = Q03_APO_PA_NAIR25FEB]
1. A, B & C are only correct.
&aer A, B T C wEr i
[Option ID = 449]
A B &D are only correct.

Faa A BARD TSR

[Option ID = 450]
Allthe options, viz & B, C & D are correct,

Taf famea, 3T A, B, C 3R D &g

[Option ID = 451]
Mone aof the given options is correct.

Y fr oo Frew A @ S o TR AR
[Option ID = 452]

Correct Answer :-
o A B &C areonly correct.

FaoT A, B3R C HWEr#)

[Option ID = 449]



4)  Which of the following is CORRECT about ‘Leave Not Due’?

A 'Leave Not Due® during the entire service shall be limited te a maximum
of 360 days, on medical ceriificate.

B. 'Leave Not Due’ shall be imited fo the leave on half average pay, a
Railway servant he is likely to eamn thereafter

C. Where a Railway servant who having availed himself of leave not due
returns to duty but resigns or retires from service before he has eamed
such leave he shall be liable to refund the leave salary to the extent the
leave has not been earned subsequently.

D 'Leave Not Due' may be granted to temporary Railway servanis who are
suffering from T.B., Leprosy, cancer or mental lliness, for a period not
exceeding 360 days during the entire service on medical certificate,
irespective of the years of Railway service completed by him/her.

FEA Geel & an A [Heaei@a A ARG wuara?

A 9T Tt o g TRThean ST o I HE Gl Al &9 3 360
Te=l te | grer arfe)

B. 'eHged! 3T Hea a0 W o] dd SIfAd ol U foid &Han ford
I dTE TATT hT FTE B

C. STGT e YoTd etaTdl, i1 Taall ahioT Gee! o 591 0K Alee &, et Oar
TCLT TN el 8 TGeT 61 SEATHIE Goll & AT e & Sar=ga el snar g, af
a5 39 UIAT 0 Ged] &1 dcel aiad & & (o0 IIRETAT 5190, S7d o
LT AT A T 61 bl 15 BT

D. &t Feo 0, He ar Asfas de & ffsa s Yo s S
ferfaeeT groT o e ox ol AT ¥ el 360 &t & arfoe Y st &
fere e gredl &1 o Hehdll &, =7 6! Yo ar a0 ol 7

[Question ID = 114][Question Description = Q04_APO_PA_NAIR25FEB]
All the options, viz. A B, C & D, are correct.

it Tawey, F¥AUTT A, B, C HXD T8I

[Option ID = 453]
A, B & C are only correct.

Had A B iR C TR

[Option ID = 454]
A B & D are only correct.

> Fao A, BaDadr &

[Option ID = 455]
Mone of the given options is correct.

4 U el & @ S5 o TET AR B

[Option ID = 456]

Correct Answer :-

A, B & C are only correct.

thao A B IR CHEE

[Option ID = 454]

5)  The minimum bench mark required at present for considering an employee
under MACPS is .....7

THTETE ¥ ded Rl FEa W e F ¥ v oo e J waas
A ST &

[Question ID = 115][Question Description = Q05_APO_PA_NAIR25FEB]
Outstanding.
EGEET

e

[Option ID = 457]



2. Very Good.
EET-F&%'L_LS\T

[Option ID = 458]
Good.
@7

3.

[Option ID = 459]
MNone of the given options Is correct

Y RrarEew A g EE M ES S

[Option ID = 460]

Correct Answer :-
Very Good.
EET-F HTal

[Option ID = 458]

6) A Railway employee warnts to change his/her name to a new name. What
are the procedures to be followed by him/her?

A Execute adeed in Form Mo 75 of Appendix 9 of IREM Volume-|.
B. Publish the change of name in a prominent newspaper
C. Publish the change of hame in the Gazette of India.

D. Change his names in all his educational cerfificates, as a prerequisite.
U YA FHANT HYAT A d6.6 &1 A0 A1 @A 96T 6| I ganT 915
A ITEITEUA diega- | F giferee 9 & wiF Fa 75 7 v faorm e
CEGIN
B. 71 Rt I Tohell 9o GATHIC U7 & Gei1ad e |
C =1F Gftac= &1 §R & TT0 H el &= |
D. Uk o § 7 #, 395 Tafr e gAmrost § 396 A a5 |
[Question ID = 116][Question Description = Q06_APO_PA_NAIR25FEB]
A& B only.
Fawd AFRB

[Option ID = 461]
A, B &C only.
Faa A B3IRC

[Option ID = 462]
3 All the options, viz A, B. C & D, are correct
" el famed, 37uTd A, B, C 3R D @eT#|

[Option ID = 463]
None of the given options is correct,
Taw aw fawedt 7 @ F15 o WA T8 81

[Option ID = 464]

Correct Answer :-

A, B&C only.
Faa A B3RC

[Option ID = 462]



7) A selection to fill up vacancies in Group B’ (Gazelted) in Safety

categories with vacancies reserved for SC&ST is under process.
In this connection, which of the following statement(s) is/are correct?

A If adequate number of SCs/STs are pot available within the field so
determined for consideration against reserved vacancies, the field
should be extended to five times the number of vacancies and only
those SCs/S5Ts coming in the extended field {and not the others) should
be considered

B. If adeguate number of SCs/STs are not available within the field so
determined for consideration against reserved vacancies, the field
should be extended fo five times the number of vacancies and all thaose
including SCs/STs coming in the exiended field should be considered.

C. In case of shortage of reserved employees in the normal zone plus
extended zone of consideration, then SC/ST employees, who are
down in the seniorty list are also eligible to appear in the selection

D. If adequate number of SCs/STs are not available within the field so
determined for consideration against reserved vacancies, the field
cannot be extended further.

TO-dT ((ISTAE) & T @9 & 9ar S vEEr 3 vwer & o smiEe

RiFaar &7 aer &7 gaa-uihar 9o @ &1

= el @, Prafatea & ¥ 9 v Fua =i i

A afe sfEa Rfadt & Rue & TR &= & T fuRa e &
g HEAr # UEHIUEET & &HANl 399 Sl 8, A &7 @l
Rigazl &1 §ew § o9 347 aF ded 19 Jriev AR had F
wEEE S fEaRe 89 & W € @@ @ ) 38 W e
Torer ST TR

B. ofe snfad Rfead & Baw # Ton == & v Bufa a3 &
T W& W OUTHIUEE & SHERl 3udeH o6l 6, of &F &
et & Tear § 9= IE7 o Geral o= et 3R e &
#H A= T THANCHST Aioo G @@ W g9 R @ a9rev)

C wAEg &9 N Trama fGan &9 & IR saamat & F6 &
HIFCr #, THHIUHET FAAN, A aRsear qdt & A § off ama &
anfaer g9r & O £

D. afg FRfEaT Rieaa & fawgy foax & v fFuifa a7 & =
TET & TS FHANT 3 8T 8, AT &VF @ A9 FA6T gerT
E e

[Question ID = 117][Question Description = Q07_APO_PA_NAIR25FEB]
Only A 15 correct.

dhdol A T4l b.

1.

[Option ID = 465]
Only B is correct.

thael B 61 &

[Option ID = 466]
Only C is correct.

> ¥awcwie

[Option ID = 467]
Mone of the given options is correct.

4 v REedt F g B o o A 8

[Option ID = 468]

Correct Answer :-

Only A 15 correct.

dhdol A T4l b.

[Option ID = 465]



8) Para 228 - Erronecus Promotions of Chapter-l of IREM Vol-I

Sometimes due to administrative errors, staff are over-looked for promation
to higher grades and broadly, loss of seniority due to the above can be of two
types:

(i} Where a person has not been promoted at all because of administrative
error, and

(il) Where a person has been promoted but not on the date from which he
would have been promoted but for the administrative error.

Which of the following is CORRECT about the above mentioned IREM

provisions?

A The siaff who have lost promotion on account of administrative error
should on promotion be assigned correct seniority vis-a-vis their juniors
already promoted, irrespective of the date of promaotion.

B. Pay in the higher grade on promotion may be fixed proforma at the
proper time.

C. The enhanced pay may be allowed from the date of actual promotion.

D Mo arrears on this account shall be payable as he did not actually
‘shoulder the duties and responsibilities of the higher posts.

9T 228 - ATEANSUA We-1 o HEAT-2 - Tod e i=Ard
Fefr el Tma s T 0aT o HROT, 35 5 & Teied g & (oI deaTar ahr
e T ST & 3 SHEH FROTANE T I IS T 31 &1 T &1 61

el b -
(i) =TT farsdT =i &1 genafees ol & FRoT faedd # welead el foar
a4 &, A

(il) =TT T caTaa ol UeTead (T aTar &, oifthe T eieh 2171l o ST 38
ARG T =61, Tore T T 337 eleetd [ohar S IaT o7

SR FTENRETH Tau & west # e A @ S e e

A T il @1 quaes et & e geetE T 7 68 8, 356
Teleelie 90 UEe O & Geleeld 3504 siersal O Tar aisadr &1 il /iR e,
ATE TRTee ol & AN F STl

B 9eleAd W 379 35 A 3+ 30T 598 W SeHT I o fhar S

C. J&T B3 delel AT iae e eafcl sl oI 3 Tdigh &l S|

D. 50 ®RYT & 3vh 15 Jh2T 4 =Ta] G191 &211ch Sealel aredd 3 3o 9al &
Forcdt 3R THAFAETRGT &1 ane =761 [har 47

[Question ID = 118][Question Description = Q08_APO_PA_NAIR25FEB]
Cnly A & B are correct.

thael AT B T8I 8

[Option ID = 469]
Onply &, B & C are comrect
Faer A, B C TR

[Option ID = 470]
3. All the options, viz A, B, C & D, are correct
Teft faeey. 39T A, B, C ¥R D T8
[Option ID = 471]
Mone of the given options is correct.

fev e Aeeqi § § &S s GET Ag 51
[Option ID = 472]

Correct Answer :-
All the options, viz A, B, C & D, are correct
weft fasey. 37T A, B, C 3R D TEr &1

[Option ID = 471]



9)  With regard to Selections, which of the following staternent/s is/are TRUE?

A) Persons who have expressed their unwillingress should not be
reckoned for determining the zome of consideration and additional
persons in heu of them may be called for the selection.

B) If a candidate without giving unwillingness does not appear in the
selection be faken in the reckoning and therefore to be called for
supplementary, if eligible.

C) If a candidate gives his unwillingness on a subsequent date, after the
selection commenced, additional persons can be called to compensate
for that person.

IO & JAFe 7 FAEateiad #§ ¥ ®ia-9 &6 TcT oa?

A) Toret st = A9ar #iaesr caeg 61 &, 305 U &9 & SR
¥ anfAer A8 v Srenm =nfev 3N 396 T W HfaRed sgfaadi
F T4 & T gomn o1 awar g

B) afe &S sezelf e s & a9 & enfare 61 glar ot 39 avEr & foen
ST 3713 9T Blet 9T 38 e o Felw gelran S|

C) afE &I 3FHIGaR 79 U4F G & a1 916 # FT=T FTvol aardr &,
d 39 =fda & ago Afafed cafdddl &1 gomr o ¥&ar g

[Question ID = 119][Question Description = Q09_APO_PA_NAIR25FEB]
A & B alone is correct.

" e A TR FEE

[Option ID = 473]
B & C alone is correct.

Fad B Ud C TR 6|

[Option ID = 474]
All the options, viz. A. B & C are correct.
Tl fase, ¥UT@ A, B ¥R C T8 &

[Option ID = 475]
Mone of the given options is correct.

4 v et & 9 1S o ad AG 2

[Option ID = 476]

Correct Answer :-

A & B alone is correct.

*ad A HTE §8T 61

[Option ID = 473]

10)  Who among the following can be considered for adhoc promotion to Group
‘B’ (Gazetted) posts, in unavoidable circumstances?

safterd wfiftafadt # o o (TS B W ded T & o
fAeataiaa & § Ty W faar Sar s gedr o2

[Question ID = 120][Question Description = Q10_APO_PA_NAIR25FEB]
Senior most eligible employes in the seniority list.

afieodT T # HaS aftss 9 FHa

[Option ID = 477]

Senior most employee amongst who appeared in the earlier selection and
2. passed the written test

maﬁmﬁmﬁmqﬁm#mﬁﬁﬁgﬂﬁﬁﬁaﬁmmyi

[Option ID = 478]
On the basis of seniority-cume-suitability from amongst all eligible candidates,

who appeared in the earlier selection, irrespective of whether they passed
3. the wrtten examination or not.

il O At 7 § aRcoar- T 3uaEadl & YR W, ST 95 999 7
3UTEN GU I, 5761 6 IRl el TGl THIaT 3 3601 5 31 60|

1.



[Option ID = 479]
Mone of the given options is comrect.

fow are Faeut 7 @ &1S o TAT 18T B

[Option ID = 480]

Correct Answer :-

On the basis of seniority-cume-suitability from amongst all eligible candidates,
who appeared in the earlier selection, irrespective of whether they passed
o the wrtten examination or not.

il O At 7 § aRcoar- T 3uaEadl & YR W, ST 95 999 7
3UTEN GU I, 5761 6 IRl el TGl THIaT 3 3601 5 31 60|

[Option ID = 479]

1) An employee, who failed in the Trade Test conducted earlier, can be tested
again only after completion of from the date of earlier Trade Test

gEe RN &5 €T # 36 §U FHai &1 I5e &5 o & aie I
T Gl o ATE G STl G707 fobalm SiT Sehcit o

[Question ID = 121][Question Description = Q11_APO_PA_NAIR25FEB]
One year.

T aq

[Option ID = 481]
Three months

et sl

[Option ID = 482]
Six months

©F Al

[Option ID = 483]
MNone of the given options is correct.

Y R e AT RS eSS

1.

2.

[Option ID = 484]

Correct Answer :-
Six months

©F Al

[Option ID = 483]

12) If the duties of a Railway employee are strenuous in nature involving
continuous. concentration’ or hard manual fabour with litthe or no period of
refaxation, then, the employment is declared as._...... ?

ufe; ferefY Yo Ferandy i sudt o wepta &1 8, oy et vamrr o #iea
QIR A7H T AT Bich §, T JH & 60 a5d &7 91 faode §7g

[Question ID = 122][Question Description = Q12_APO_PA_NAIR25FEB]
Intensive.
e

1.

[Option ID = 485]
Continuous.

et

[Option ID = 486]
Essentially Intermittent.

T Y Y HIoWIeS

[Option ID = 487]

2.

3.



Mone of the given options is cofrect.

+ few a7e Tt & § 1S o TET A8 81
[Option ID = 488]

Correct Answer :-
Intensive.

e

[Option ID = 485]

13) Which of the following is CORRECT about the “Short-Off” under Railway
Servants (Hours of Work and Period of Rest) Rules, 20057

A In the case of Intensive workers, period of rest is fess than 12 hours in a
roster of six hours duty.

B. In the case of Intensive workers, period of rest is less than 14 hours in a
mixed roster of 6 and B hours duty.

C. Inthe case of Continuous worker, period of rest is less than 10 hours.

D_ In the case of Essentially Intermittent workers, period of rest is less than
8 hours.

T HHENT (1 & e I HWE S Hafd) e, 2005 F a5 "ofe-Hm &

el PERET A S T a2

A TG ATHET & HIFC 3, UF UE 6 SUET§ T & R 1 Hafe 12 88 T
FH B

B. TG AT & AW #, 6 3T 8 T i ST & AT e F A
AT 4 EC A FH B

C. At el & A &, HUH ST a0 9 G FA 6

D. vafrEel seviace sf@w & ama &, e & Hafa s ae S wa &

[Question ID = 123][Question Description = Q13_APO_PA_NAIR25FEB]

Only A & B are correct.
had A FBERI Bl

[Option ID = 489]
Cnly A, B & C are correct

2.
Fad A B AT C TErEl
[Option ID = 490]
3 All the options, viz A, B, C & D, are correct.
" wsft famew, a1yt AL B, C 3R D Wér &
[Option ID = 491]
4 Maone of the given options is correct.

fow A fasenl & & #15 ol 981 780 61

[Option ID = 492]

Correct Answer :-

All the options, viz A, B, C & D, are correct.
Y faerea, arfe A, B, C 3R D &8 &

[Option ID = 491]



14) Railway employees on retirement are permitted fe retain Railway
accommodation for a period of manths on payment of normal rent and
next months on educational or sickness account, on' payment of
double the rate of normal rent.

Eillin the blanks with correct eptions.

JarfAa W IAa SHLINET & A I & $EEE 9 GHERE]
FHafer & forw AN Aifde a1 dan @rg W §Eeg ST &1 g0 § gheET

UM & T WP AEET % [0 Y0d 31 gA1U 3@y d7
A Bl
et TrEt &1 §a1 fawedl 9 s1ilw)
[Question ID = 124][Question Description = Q14_APO_PA_NAIR25FEB]
1. Four , Four
9, 9

[Option ID = 493]
Two, Four
ar, TR

[Option ID = 494]
Four, Six
oM, T

[Option ID = 495]

Mone of the given options is comect

* frv e vt & o S st AT AT 21

[Option ID = 496]

Correct Answer :-

Four , Four
|, 91T

[Option ID = 493]

15) A Railway servant's ward is studying in class 9" or class 11" at the time of
his/her transfer The maximum period permited for retention of Railway
quarters at the previous place of posting on educational grounds Is ... ?
Choose the CORRECT option.

U YAd HHANT & gl 3T THEAROT & TAT et odT a1 &aT 1147
F Uz @ 3 dfEe ymR o 9fEdT & fed Tue W od el #@
aC @ F AT FF dF & S Fehhl & 2

wWEl fdeed =]

[Question ID = 125][Question Description = Q15_APO_PA_NAIR25FEB]

Till the end of the current academic year anly.

" Faer ar dafos af & o aF|

[Option ID = 497]
Current academic/scholastic session plus next academic/scholastic session.

aaETe el fEe a7 3N e steitmeiEs o

[Option ID = 498]

Till the end of academic/scholastic session of Class 10" or 12™ respectively,
plus 15 days extra.

T 1041 1 1241 & NeToEREiETR 99 & T a6, WY & AT §9
T 16 f&l

[Option ID = 499]

Mone of the given options is correct.

4w o fasmedl # W 1S ol w6l 6l ol



[Option ID = 500]

Correct Answer :-

Till the end of academic/scholastic session of Class 10" or 12* respectively,
plus 15 days extra.

HET 10d1 a1 1247 & sherTveeliEs 97 & 30 d%, o1 & FwiafeT v
T 15 &=l

[Option ID = 499]

16)  The family of a Railway servant, who dies while in service, may be permitted
to retain the Rallway quarter's on payment of nermal rent for a maximum
period of if he/she does not own a house at the place of posting

LR G T 1 U S U I R0 B T U L R R e 1 e
IHEHT HUAT X 61 & o 3T IR & ferma HafT & @v
AT AT F s 9Y (6d #9110 q@ @ SaAfa & o
Geal &l

[Question ID = 126][Question Description = Q16_APO_PA_NAIR25FEB]
6 months.

1. 6 #\GW

[Option ID = 501]
12 months.

2. 12EgE

[Option ID = 502]
24 months.
24 AR

[Option ID = 503]
MNone of the given options is comest

4. few o Taeedl & & &3 oy 98 =8 &

[Option ID = 504]

Correct Answer :-

24 months.
24 715

[Option ID = 503]



17)  Which of the following statement/s isiare TRUE?

A In Group ‘C', the normal period of service required io be completed In
lower Grade for promaotion is two years.

B. The normal period of service required to be completed in lower Grade for
promation to be fulfilled at the time of actual promotion.

C. The normal period of service required to be completed in lower Grade for
promotion, excluding Running categories, can be relaxed to one year
with the approval of General Manager

D. The normal period of service required to be completed in lower Grade for
promotion, including Running categories, can be relaxed to one year with
the approval of General Manager.

rafatan & 8 =2 o sva od 887

A WHE U A, Seledia & v faae @5 # qU & S arer ar &
AT HEfe g ay gl

B. Siwta & fav = 35 & ot 1 S awelr dar &1 9= wafE
& arEdfde Geleeiia & GF9 O b e el

C. Yeleata & foiv T 5 # gl &1 5= areil sTaedes Jar & TEwa
Fafer, Tfeer AT &F Bisa, AGaY® & A ¥ Uh a9 aF &F
&7 ST Hehal &l

D. {feer AUt wféd welewia & fov foger a5 & qff &7 Srer arelr
IR a1 T T AT F AFUEEE T HO ¥ O a9 o
T & S Tell Bl

[Question ID = 127][Question Description = Q17_APO_PA_NAIR25FEB]

A & B alone are'true.

' FawAdRBEE B

[Option ID = 505]
A B & C alone are frue.

2 ¥aw A BHT CTE B

[Option ID = 506]
A B & D alone are true.

3. FHaerA BIERDTE §

[Option ID = 507]
MNone of the given options 15 correct.

4 RrarReent RS M as e a

[Option ID = 508]

Correct Answer :-
A B & D alone are true.

* FaoA BIDTE

[Option ID = 507]



18)  The Appointing Authority shall, if it is of the opinion that it is in public interest

to do so, have the absolute nght to retire a Raillway servant in Group '€’
service or post who 15 not governed by any Pension Rules after he has
completed thirty years' service by giving him notice of not |ess than three
maonths in writing or three months’ pay and allowances in lieu of such notice.

Which amornig the following Rules gives such powers?

forelt oft Qe Toaw & anfSe & gier arel QUi & dar ar ug & foer
YT SHEN Y IWE o Wrer Y Wer G g & arg [T w9 A e
#AgA Y Afe a1 HifeT & deo diF A & dde AW fied aE
T a7 3% dafted w9 & 90 AER P aftwl @ g
eEaAteTad 7 T & o7 e O e e 87

[Question ID = 128][Question Description = Q18_APO_PA_NAIR25FEB]

Rule 1801 of Indian Railway Establishment Code, Volume-|l.
. sRdrr wd s @fear &1 WEE 1801, @52

[Option ID = 509]
Rule 1804 of Indian Railway Establishment Code, Volume-|1.
2. WA YO TUTGAT Sfgar & AEE 1804, @2

[Option ID = 510]
Rule 1805 of Indian Railway Establishment Code, Velume-Il

3. oo o THIET 9iear & =ae 1805, @52

[Option ID = 511]
None of the given options is correct.

4 R Rwed 7 Y A S wR AG £

[Option ID = 512]

Correct Answer :-

Rule 1804 of Indian Railway Establishment Code, Volume-I1.
® oA Yed TG |@igdT & oA 1804, @5-2

[Option ID = 510]



19) Rule 1343 (F.R.54). Where the authority competent to order re-instatement is of
opinion that the Railway servant, who had been dismissed, removed or compulsonly
retired has been fully exonerated

Which of the following is/are CORRECT with reference to the above Rule?

A The Railway servant can be paid the full pay and allowances to which he would
have been entitled, had he not been dismissed. removed or compulsorily retired or
suspended prior te such dismissal, removal or compulsery refirement, as the case
may be

B. The period of absence from duty including the period of suspension preceding
dismissal, removal or compulsory retirement, as the case may be, can be treated
as a period spent on duty for all purposes.

C.In case, the authority is of the opinion that the termination of the proceedings
instituted against the Railway servant had been delayed due o reasons directly
attributable o the Railway servant, the authority is having liberty to decide about
the gquantum of pay & allowances, after giving an opportunity to make
representation and after considering the representation.

D. The amount determined under the proviso mentioned at (C) above shall not be
less than the subsisience allowance and other allowances admissible under Rule
1342 (F.R.53).

o2 1343 (UR.3R.54); T TR 9T G & 7 FETH UGN & TF &

for Yo e, ory AT @ T IR T, BET AT AT Oy ar Hfeerd w9

Yarfeige &Y Tear o o1, 3 90 Ot § Sl9EEd & Gar 9 g

Ieg T & e #F Peafaiag § & a9 Y g 85

A, W FEET F W a4 3R o U o W 6, ot 98 g6eR B, g1
37 Ut areaet, osaae a1 sfeary Sarteaio I 9, S s Jeen &,
Jated, fern o Hia Garfaga ar Retaa F6 Sar aar g

B. 57T W i aafE, St auheae, s o sfaer dafaa
¥ ugel fecias & 37afe off anfder §, star o &wen g, =i Segedt & fav
=0 W TS a1 Faft & &9 F A= o @ B

C. A Tfs &7 1™ ¢ & o FAa0 & Taw 3 & 75 FREm &
T & @ Al e sl & e seue A &Rel & & 6 &
r wiferERer &Y ade AN a S AT & a7 R & i T 8
A & & AW & & A AR FEaeeE WO EEN & & a5l

D. W (C) # 3fecian Was & ded Auiid Ui, as 1342 (UR.IR53) &
T5d &1 foidis #eal 99T HeT e § & AT Gl 91T

[Question ID = 129][Question Description = Q19_APO_PA_NAIR25FEB]
A B &Conly.
. ZFaer A BHRC

[Option ID = 513]
A G &D only.
Haa A CUdD

[Option ID = 514]
All the options, viz A, B, C & D, are comrect

3w fwey, ¥uTT. A, B, C T D G &

[Option ID = 515]
MNone of the given options is correct.

4. fEuaw faweat & & S o @aT e 81

[Option ID = 516]

Correct Answer :-

All the options, viz A, B, C & D, are correct
* §ur fawey, 9iE. A B, C 3R D 98 &



[Option ID = 515]

20) Which is the Medical Classification prescribed for recruitment to the posts of
Assistant Loco Pilots?

T olie] OIele & Yal 9 ol & fav sl ar EfEcar asfferer
g &2

[Question ID = 130][Question Description = Q20_APO_PA_NAIR25FEB]
AYE-ONE (A-1)

L Rl
[Option ID = 517]
AYE-TWO (A-2)

2. gaEig @ (w2)

[Option ID = 518]
BEE-ONE (B-1)
3 dE - (@)

[Option ID = 519]
Mope of the given options is correct.

4 feu arw el & & 1S ol el 76l 6l

[Option ID = 520]

Correct Answer :-
AYE-ONE (A-1)
® s - ve (1)

[Option ID = 517]

21)  When will the probation period commence for a newly recruited Group 'C
staff, for whom initial training period has been prescribed?

WHE ' ¥ Aafaged 39 FAaE F fov afder sty w7 o gem,
S forr arfes afieror saEfy e 9 o8 22

[Question ID = 131][Question Description = Q21_APO_PA_NAIR25FEB]

The date of reporting to Railways.
1 e # e & & ad

[Option ID = 521]

5 The date of reporting for training.
© gfimT & for R & A fy

[Option ID = 522]
On absorption to the working post after successful completion of the training

3. yfdreqor & Swe A & A S UE 9T JETOA Bl 9]

[Option ID = 523]
Mone of the given options is correct.

4 e [Awedl g w15 s gET AR 2

[Option ID = 524]

Correct Answer :-



On absorption to the working post after successful completion of the training

®  gfEedor & Thdl GHITS & A & ug 90 JEfed g @l

[Option ID = 523]

22) The Railway employees opted for Fixed Medical Allowance are not entitled to
receive treatmentas.......?

fafeae Rt sm & fooreT gow arer o8 Sl — F ¥ &
Frferear 91 & gel 7e 6.7

[Question ID = 132][Question Description = Q22_APO_PA_NAIR25FEB]
Indoor patients.

1 srafe o9,

[Option ID = 525]
Outdoor Patients.
2 g Ot

[Option ID = 526]
Referred Qutside.
3. T TET S

[Option ID = 527]
MNaone of the given options is correct.

4 froae Rwed i g #S o gi AET 2

[Option ID = 528]

Correct Answer :-

(Outdoor Patients.
® G e

[Option ID = 526]

Which is the correct expansion for UMID Card?
UMID &5 &1 8 faeamor a=r 87

[Question ID = 133][Question Description = Q23_APO_PA_NAIR25FEB]
Urgent Medical Insurance Card

' sl AftEw sregten W

[Option ID = 529]
Unique Medical Identity Card.
s Al S50 &5

[Option ID = 530]
United Medical ldentity card.
3 TATGES Alshe AS5CT H15

[Option ID = 531]
Mane of the given options is correct

4 v A fawedt & O w12 o 98 A6 B

[Option ID = 532]



Correct Answer :-

Unique Medical Identity Card.
*  ofae Aftwe s wE

[Option ID = 530]

24) The pay to which a Railway servant would be entitled if he held the past
substantively and were performing its duties, but it does not include special
pay unless the Rallway servant performs or discharges the work or
responsibility in consideration of which special pay was sanctioned is called
as. .7

g doiel Toith foIT U Yord an e G1eT 30G 36+ Ue &l ol 89
T grer &ar § 3N 39 SOl & 9rde T 61 8, ol ST a9
0 A A8 & o9 g% F T9 FEn 39 &1 @ SEeed
fegiea @1 fAdes =6 & & Owd fGan & a9y daw wfed G
I oY, I HAT FEl AT 67

[Question ID = 134][Question Description = Q24_APO_PA_NAIR25FEB]

Presn__tmptive FPay

' ywfeug age

[Option ID = 533]
Personal Pay

2 wfEged dae

[Option ID = 534]

Substantive Pay.
3. FHFEF?._N I

[Option ID = 535]
MNone of the given options is correct

e fawedl & TS o air e 1

[Option ID = 536]

Correct Answer :-

Presumptive Pay

* gsfeag aa=

[Option ID = 533]

25)  \What is the minimum number of members required to apply for registration of
a Trade Union?

s affms & Yl & des &t & fov sews wesdl f SEaE
[Question ID = 135][Question Description = Q25_APO_PA_NAIR25FEB]

14
1.

[Option ID = 537]
10

[Option ID = 538]



o7

[Option ID = 539]
Mone of the given options is correct

4. fevaw e # G &S o 9gr A6 £

[Option ID = 540]

Correct Answer :-

o7

[Option ID = 539]

26) As per Section - 4 of PoSH Act 2013, every employer of a warkplace shall
constitute Internal Complaints Commitiee.

Which of the following isfare correct with regard to the members of the
Internal Complaints Committee?

A Presiding Officer shall be a women working at a senior level at
workplace from amongst the employees.

B. Mot less than two Members from amongst employees preferably
committed to the cause of women or who have had experience in social
work or have fegal knowledge.

C. One member from amorigst non-governmerital organisations or
associations committed to the cause of women or-a person familiar with
the issues. relating to sexual harassment.

D. Provided that at least one-half of the total Members so nominated shall
be women

PoSH yfarfazs 2013 Y 9RT - 4 & ¥a0R, FETYT & Ui e

@l i fAra |fafd @1 e sear genl

e fAerad 9iATd & 9ETdl & "ay § Aeaenad 7 9 &9

Hal ofe?

A drarfier sfEsnr sEvTs W aliss T © SRERa S 7 F '
HAfGerm g

B FHEINAT  § &6 § &4 o TeTT AIea3 & (o & W0 gidage o
a7 foad 9T TASE FR F N 6 91 FE a0 Al

C AfpasT & f&d & fov giddagy IR das-t ar 9uf & & v
Werd a1 dler 3cdisa  wefad #Agal @ i oafEd)

D. @orct o AT &l Tl & & & § &F Al Afgent el

[Question ID = 136][Question Description = Q26_APO_PA_NAIR25FEB]
A B &C only.
. FawA B3RC

[Option ID = 541]
B. C &D only.
2 ¥aer B,CUT D
[Option ID = 542]
All the options, viz. A, B, C & D, are correct.
3 wuft fawew, 37 A, B, C HT D &E1 &

[Option ID = 543]
MNone of the given options is correct.

4 R A fawedt F G B o 5h A4 &



[Option ID = 544]

Correct Answer :-

Allthe options, viz. A, B, C & D, are correct.

* @ famey, 39 A B, C 3 D @@ £

[Option ID = 543]

27) Under Section 7(1) of Right To Information Act, 2005, on receipt of a
request under Section-6, what is the time limit available to the Central Public
Information Officer or State Public Information Officer to furnish the
infarmation or reject the request?

a1 & AUHR AEETH, 2005 & 9)1 7(1) & d&d, 9R-6 & ded
I O B W, R die I AfEl @ 1sg e gEer
HTEFRT ST HFAT ¥ AT HAUD HI HEABR F & ToU 1 g Har
U 7

[Question ID = 137][Question Description = Q27_APO_PA_NAIR25FEB]
Within 45 days of the receipt of the request,
1. e 9Td B & 45 TR & ofian

[Option ID = 545]
Within 80 days of the receipt of the request.
2 37ereT UTeA 819 % 60 fEAT F iR

[Option ID = 546]
Within 30 days of the receipt of the request.
3 3oty ured gl & 30 et & sfiaw

[Option ID = 547]
MNone of the given options Is correct.

4 oA fawedt F  F15 o wEr ag 2

[Option ID = 548]

Correct Answer :-
Within 30 days of the receipt of the request.
37T gied Bl & 30 fEAT & ofiaw

[Option ID = 547]



28) The Salient Features of Section-22 (1), Chapter-V of Industrial Disputes
Act, 1947. Which of the following is/are correct?

No person employed in public utility service shall go on strike in breach of
contract —

A. without giving te the employer notice of strike, within six weeks before
striking.

B. within fourteen days of giving notice, as prescribed in the Act.

C. before the expiry of the date of strike specified in any notice issued.

D

. during the pendency of any conciliation proceedings before a
conciliation officer and seven days after the conclusion of such
proceedings.

degie Teg #fuEms, 1947 & aw-22(1), eV # g

e Teataiaa # ¥ S a/F T8 887

e 3T #&r A Tt #F f @fEe aqgEu F e #

FIATS I Bl SATTT

A. 5070 § OF Foarg & dex AaEar F gsaw F gaer v e

B. Afew &= ¥ wieg feat & ofax, s & sfofaas & Gt &

c.adfFrar fFd frAfee & Sec o raim Sraata &
g8l |

D. e goe U=l  wee e goe Fd9E ¥ dfeg B F e
T v FEEEr % §ANS F T T gl

[Question ID = 138][Question Description = Q28_APO_PA_NAIR25FEB]
A B&Conly
' Faaw A B3R C

[Option ID = 549]

B, C&D only

2 ¥a@ B, CUED
[Option ID = 550]

All the options, viz A B, C & D, are correct.
3 gl Beey, 3o A B, C 3T D U &

[Option ID = 551]
Mone of the given options is correct.

4 R awed ¥ A HS o wE A 2

[Option ID = 552]

Correct Answer :-

All the options, viz A, B, C & D, are correct:
meft To@eT, 39T A, B, € 3T D TEr &1

[Option ID = 551]



29) |n accordance with “Chapter-XXIV GRANTS-IN-AID” of Indian Railway
Establishment Manual, Volume-ll, which of the following kinds of
Institutions can be paid Grants-in-aid?

A Medical Institutions.

B. Railway Institutes and Sports Clubs.

C. Raillway Co-operative Societies.

D Privately managed Schools run by Railwaymen in Railway Colonies.
RO Fd TG AT, @5 1| & XXV e &
IER, Faered 7 ¥ 59 @R & 9 & FagE-ToRar &6
ST oRaT T e 87

A. Ao gva=

B. o §Fu= AR € Fod

C. Yod "Eenr giafoar

D. Yo Felllerdl & Yool anl ==l A 9 Gaied Tl

[Question ID = 139][Question Description = Q29_APO_PA_NAIR25FEB]
A B &Conly
' FaaT A, B&C

[Option ID = 553]
A G &D only
FaaT A, C&D

[Option ID = 554]
All the options, viz. A, B, C & D, are correct
3wl Rwed, WU A, B, C d D T E

[Option ID = 555]
MNone of the given options is comect

4. Ruaw fwedt § @ 15 dr wg) 8 &1

[Option ID = 556]

Correct Answer :-

All the options, viz. A B, C & D, are correct.
* @it faFey, 399 A, B, C 3T D @81 &)

[Option ID = 555]

30) Railway servants, who are Scouts & Guides of the Railway State
Associations, may be granted Special Casual Leave fimited to...days in a
calendar year for attending training camps or rallies or on scouting duties.

Yo @A, S e U GHt & THEey 3N ass &, & afdaror et ar
Aot # a7eT T AT THEIBFEAN ST WU hoist ad # Hfvwad &7 F — et
e TadT A ers Hawner fear ot G &1

[Question ID = 140][Question Description = Q30_APO_PA_NAIR25FEB]

25
1.

[Option ID = 557]
30

[Option ID = 558]



45

[Option ID = 559]
None of the given options is correct.

4, TEva famedl # @ &S o T AT &)

[Option ID = 560]

Correct Answer :-

30

[Option ID = 558]

31) Can e-Office be accessed at home?
T ST 9 o F & T STl & ?

[Question ID = 141][Question Description = Q31_APO_PA_NAIR25FEB]
Mo, we canriot access

1 FET, &7 AR X S

[Option ID = 561]
Yes, we can access anywhere without any addiional configuration.

2 g, g e el AR Fewae & B8 s B W B

[Option ID = 562]
Yes, with the access to Railway Network through VPN
o1, AU & AT & Yol Acdd deh Tgae]

[Option ID = 563]
Mone of the given options is correct

4. v v fawedt & ¥ &5 o wEr w6 B

[Option ID = 564]

Correct Answer :-

Yes, with the access to Railway Network through VPN
&, didive & ARaHE & {Wd Aead de dgadt

[Option ID = 563]

32) The APAR’s of Gazetted staff are processed in
TS FAETAT FT THCHNTT 9 — F T ST 6

[Question ID = 142][Question Description = Q32_APO_PA_NAIR25FEB]
HRMS T HNTHTT

[Option ID = 565]
SPARROW ERT

[Option ID = 566]



IPAS HEdTes

[Option ID = 567]
MNone of the given options is correct

4 Roac et g ES e ad

[Option ID = 568]

Correct Answer :-

SPARROW EURT

[Option ID = 566]

33)  What s the rate of Provident Fund (PF) deduction from pay?
e ¢ ufosy @fa (dow) &1 b e o o & I &2

[Question ID = 143][Question Description = Q33_APO_PA_NAIR25FEB]

1/12 per maonth or 8.33% of subscriber's emoluments.
1. yfargmar & ofwfer & 112 93 A7 a7 8.33%

[Option ID = 569]

5% of Basic Pay
Aol AT & 5%

[Option ID = 570]
10% of Basic Pay
3 A ada # 10%

[Option ID = 571]
Nene of the given options is correct,

4. feu o fawedl WIS o 6l ol ol

[Option ID = 572]

Correct Answer :-

1/12 per maonth or 8.33% of subscriber's emoluments.
*  yffigmar #r aftafer & 112 ofT 7% T 8.33%

[Option ID = 569]

34) At present, Vande Bharat Express is manufactured by?
T # g¢ R TETa & fmAer e gany e s &2

[Question ID = 144][Question Description = Q34_APO_PA_NAIR25FEB]

Rail Coach Factory (RCF), Kapurthala
" o7 fovar wR@ET (INEUER), FGEET

[Option ID = 573]
Modern Coach Factory (MCF), Raebareli.
2 FHise s hadl (THHivE), IEate

[Option ID = 574]



Integral Coach Factory HCF), Chennai, _

3. marly fEsar sRaen rsdTE), e

[Option ID = 575]
Maone of the given options 1s correct.

4. fEu I fawedt & § 5 off o A6 81

[Option ID = 576]

Correct Answer :-

Integral Coach Factory HCFJ, Chennal, _

®  HaWl TEear @l (ASHUE), deas

[Option ID = 575]

35) Communications received in Hindi are to be replied in Hindi only by Central
Government Offices. This is mandated by which of the following rule of
Official Language Rules?

&% TEN & FHEEd ganT Bar # ued T F IoK hde Bal & & ar
e aifevl mE e HeAt & REeEatEg & 9 e Bee g
Ffaar £

[Question ID = 145][Question Description = Q35_APO_PA_NAIR25FEB]

Rule 11
T T 1

[Option ID = 577]
Rule 10
2. o 10

[Option ID = 578]
Rule 5
3. =aH 5

[Option ID = 579]
Mone of the given options is correct

4 oo e fwmedt 3 A IS off Tl AT B

[Option ID = 580]

Correct Answer :-
Rule 5
* fGOH 5

[Option ID = 579]

36) onwhich state, the Official Language Rule is not extended?
el AT fae Us g we Anl T

[Question ID = 146][Question Description = Q36_APO_PA_NAIR25FEB]

Jammu & Kashmir

"' S T wER

[Option ID = 581]



Tamil Nadu
2. gfae =g

[Option ID = 582]
Goa
3. ain

[Option ID = 583]
MNone of the given options is correct.

4 froaw et H @ B s adr A R

[Option ID = 584]

Correct Answer :-

Tamil Nadu

* dffer &g

[Option ID = 582]

37) |f any employee has passed Matriculation or its equivalent or higher
examination with Hindi medium, then he/she shall be treated as?

e T ol oF A ar 398 gaEeeT ar ITaoax 9O Rl A O
30T &7 §, °F 39 T AW Sean?

[Question ID = 147][Question Description = Q37_APO_PA_NAIR25FEB]

Employee is having proficiency in Hindi
- el # R & oo oed &

[Option ID = 585]
Employee 1s having working knowledge in Hind

2. wHwar &1 Rl # SS9 9T

[Option ID = 586]
Employee not trained in Hindi

3. e @l # wiRfeE @6 &

[Option ID = 587]
MNone of the given options Is correct.

4. fru aw Tawedl # @ #S o & @ B

[Option ID = 588]

Correct Answer :-

Employee is having proficiency in Hindi
® il # B & adorEr gea §

[Option ID = 585]

38) Wha is the Chairman of Zonal Railways Official Language Implementation
Commitiee?

AT o7 UAST Fivads difid & eI ST Glg 67

[Question ID = 148][Question Description = Q38_APO_PA_NAIR25FEB]
Mukya Rajbhasha Adhikari(MRA)
1w T HfEwHEr

[Option ID = 589]



Principat Chief Personnel Officer (FCPO)
2. gHE AET FiAE ATENT

[Option ID = 590]
General Manager
3. FEMaETE

[Option ID = 591]
None of the given options is correct,

4 frv v faeedt & @ w5 o 96 T4 B

[Option ID = 592]

Correct Answer :-
General Manager
® HARMEd®H

[Option ID = 591]

39) Inwhich order, the boards are displayed in Non-Hindi speaking areas?
Eaat oy & #F @St & e w6 § wita e a9 8

[Question ID = 149][Question Description = Q39_APO_PA_NAIR25FEB]

Hindi, English & Regional Language
1. Tl e & e amar

[Option ID = 593]
Hindi, Regional Language & English
2. Ty, el amer & el

[Option ID = 594]
Regional Language, Hindi & English.
3. gefr e (fEEY & ST

[Option ID = 595]
MNone of the given options is carrect.

4 Tev v fomwedl & @IS AT WA A9 &

[Option ID = 596]

Correct Answer :-
Regional Language, Hindi & English.
® & oW AT & ST

[Option ID = 595]

40) How many languages have been recognized in the 8" schedule of Indian
Constitution so far?

Tierar= T 8dT H=Iere1 # 3 e focleil T3 1 HIeT &1 =1 Th 57?
[Question ID = 150][Question Description = Q40_APO_PA_NAIR25FEB]

15
1.

[Option ID = 597]



18

[Option ID = 598]
22

[Option ID = 599]
Mone of the given options is correct.

4. v v fAwedt §F § &5 o 98 9 8

[Option ID = 600]

Correct Answer :-

22

[Option ID = 599]

41) To notify the Central Govemment Offices in the Gazetie, what percentage of
employees have fo acquire the working knowledge of Hindi?

&% WER F FREE F To9F § R F= & @ fFae gl
FHANET & TECT &7 SIS AT 915 ST g7

[Question ID = 151][Question Description = Q41_APO_PA_NAIR25FEB]

60%
1.

[Option ID = 601]
T0%

[Option ID = 602]
80%

[Option ID = 603]
Mone of the given options is correct.

4. TEu 1w Tammeat 1 & &S 81T Tl =6l 61

[Option ID = 604]

Correct Answer :-
80%

[Option ID = 603]

42) What is the name of the software developed by CDAC to leam Hindi courses
(Prabodh, Praveen & Pragya) through the languages of India prescribed for
Central Government Employees?

g TN & saanEr & v Gt B geaes @@y, gdior ik
9T @ HNE o A & #egH g wige & o @igd g fasiag
HIFCde &l = @47 §7

[Question ID = 152][Question Description = Q42_APO_PA_NAIR25FEB]



Pravachak
- garEw

[Option ID = 605]
Shruthleknan
AoEs

[Option ID = 606]
LILA

3. e

[Option ID = 607]
MNone of the given options is comect

4. v v fawedt & ¥ &5 off 9l a6 &

[Option ID = 608]

Correct Answer :-

LILA
® e

[Option ID = 607]

43) Which ariicle of the Constitution of India mentions about the Official
Language of the Union?

T T T & AN H ART & GOUE & 9 FeoE 7 Seod 87

[Question ID = 153][Question Description = Q43_APO_PA_NAIR25FEB]
Article-120
-yt -120

[Option ID = 609]
Articte - 343
2. Heeog - 343

[Option ID = 610]
Article -340
3 FeIete-340

[Option ID = 611]
Mone of the given options is correct.

4 few aw Rwedr 7 9 F5 o 9 T8 B

[Option ID = 612]

Correct Answer :-

Article - 343
® FHeeoT - 343

[Option ID = 610]

44) According to the Constitution of India, the Official Language of the Union will
be Hindi and the script will be

Wﬂmﬁm*mﬂﬂﬁrmﬁﬂ’rﬁmﬁﬁ _RrE?

[Question ID = 154][Question Description = Q44_APO_PA_NAIR25FEB]



Kharosthi
ECELT

[Option ID = 613]

Devnagri
2 rqamry
[Option ID = 614]
Brahmi
3 grest

[Option ID = 615]
Mone of the given options is correct.

4 R Awent F F w8 o w e

[Option ID = 616]

Correct Answer :-

Devnagri

* e

[Option ID = 614]

45) |REPS stands for?

FTSHEHCT & faveqd 967

[Question ID = 155][Question Description = Q45_APO_PA_NAIR25FEB]
Indian Railways E-Performance System.

1. sfEge wd sy e

[Option ID = 617]
Indian Railways E-Production System.
2. SREgH (o s-dEeE [GEeH

[Option ID = 618]
Indian Railways E-Frocurement System.

3 ofege toa SR (e

[Option ID = 619]
Mone of the given options is correct.

4. feu o fasmedl # W 1S o w6l 6l ol

[Option ID = 620]

Correct Answer :-

Indian Railways E-Procurement System.

*  sEaw e SueEe SeeH

[Option ID = 619]



46) In accordance with Section 40-B of the Factories Act, 1948, in every
factory, the Occupier shall employ Safety Officers, as prescribed by the State
Government, if .. or more workers are ordinarily employed, or in the
opinion of the State Government, any manufacturing process or operation is
carmed on, which process or operation involves any risk of bodily injury,
poisoning or disease. or any other hazard to health, to the persons employed
in the factory.

thedT siferforam, 1948 & amr 406 & @R, sois edr &, Ffesear
U= ¥R Sanl feiia qea sfgwiar & Baea s, afi ... a1
e Ao FEt W e g € 91 596 1T # U5 WeN, w8
sft Tafeaor gfe=n a1 gare= &t 8, 59 ufe @ 9o & srae §
HEAT cafdaat & aliie die, fuEdar @ dend, ar s & e
TS T AU WA BT B

[Question ID = 156][Question Description = Q46_APO_PA_NAIR25FEB]
1,000

[Option ID = 621]
1,500

[Option ID = 622]
2.000

[Option ID = 623]
Mone of the given options is correct.

4. few o faeed & T &S o wir T &

[Option ID = 624]

Correct Answer :-
1,000

[Option ID = 621]

47) As per Section 2 (zg) of the Industrial Relations Code, 2020 the term
‘wages” does not include which of the following?

A Basic Pay

B. Dearness Allowance.
C. Retaining Allowance.
D. House Rent Allowance.

Hiezeie Haer |iedr, 2020 #7 9RT 2 (zg) & HTAN, "HAGU" AT H
rafafag g s afaa agi &2

A FF aad

B. #ES o

C. 9T 7T

D. Hehl= Tehgran s7ar

[Question ID = 157][Question Description = Q47_APO_PA_NAIR25FEB]

C only.

- thaol C

[Option ID = 625]



D only
Fae D.

[Option ID = 626]
C & D only.
3. FaeCudD

[Option ID = 627]
Mone of the given options is correct.

4 R fawedt F 1S ol w481 &)

[Option ID = 628]

Correct Answer :-

D only
* FawD.

[Option ID = 626]

48)  When Running staff are engaged in or employed on non-running duties, they
are paid, which of the following payment?

& T T IR Foeat A eerar FEfad e £ A 398 Meaeaa &
T T T ST [ ST 67

[Question ID = 158][Question Description = Q48_APO_PA_NAIR25FEB]

Allowance in lieu of Kilometrage (ALK)
1 TaelteiTex gl (vueih) & aeer s

[Option ID = 629]
Kilometrage Allowance.

2. fepeietied gl swr

[Option ID = 630]
Officiating Allowance.
THTATTw=1 T

[Option ID = 631]
Mone of the given options is correct.

4 R et A G S o wEr A8 &)

[Option ID = 632]

Correct Answer :-

Allowance in lieu of Kilometrage (ALK)
®  TareiHIeT T (Teldy) & ager srar

[Option ID = 629]



49) Breach of Rest Allowance When running staff who work a train to an
outstation and return to their headquarters are detailed for running duty,

before completing their rest, Breach of Rest Allowance shall be granted to
them

Which of the following is true-about the “Breach of Rest Allowance"?

A Before completion of 16 hours rest at headquarters when the total period
of duty immediately before the rest was for 8 hours or more;

B_ Before completion of 12 hours rest at headquarters when the total period
of duty immediately before the rest was for less than 8 hours;

C. The allowance shall be payable as Overlime Allowance under HOER at
the rate of 2 hours for every hour by which the rest falls short of the
prescribed hours of rest

D Periods of less than half an hour being neglected and those of half an
hour or more shall be rounded off to one hour on each occasion of breach
of rest

HRTH 377 & Soofoed ofd (e Teih AT Tl aipdl Teod & oo # &IH

U I HEATT dlied b, Ieh YA ANH G o o Teel AT ST

& [T &aT STaT & a7 376 FNH & Seoae $T foar STeam|

Tasme S @1 IeoEe & Ay & AEafafea & @ wl ar 9g &2

A FEGEE W16 EC & HRH T W F U5el ofd HRH T 8 Toer
5481 ff o Hald 8 ue W I9Y AR off

B. AEGT W 125¢ F ANHA T &R I Tool I AN T SiF Toel
I8 A Tl Ha gEe ¥ w4 off

C. 95 & TSN & A6d AT 99 F T H 9l ue & WU 2
e T 0 T grm, o IR & Fia 9 &0 8 9T #1

D. 39 g § &d & Hale & 3ufag G s afge S 3y 9 ar
399 Afas &7 7T & AN F Iooud o Yodd Haal W U6 Oe
a% qUiifed T S|

[Question ID = 159][Question Description = Q49_APO_PA_NAIR25FEB]
A B &C only.
1. HaaA B&C

[Option ID = 633]
A C&Donly.
2. ¥aeA C&D

[Option ID = 634]

All the options, viz. A, B, C & D, are correct
3wl RweT, ¥t A, B, C AR D FErE

[Option ID = 635]
Mone of the given options is correct.

4 RuaT aEet A Y FE AT S AR B

[Option ID = 636]

Correct Answer :-

All the opfions, viz. A, B, C'& D, are correct
*  gef Ao, srwig A B, C 3R D EEr &

[Option ID = 635]



50) JOINING TIME: In the cases involving transfer from one station to another
and also involving change of residence and the distance between the old

headqguarters and the new headquarters is more than 1,000 km, but less than
2,000 km, the number of days eligible as Joining Timeis.. 7

FRBR AGOT e Bl AT U HFACN A Toad Uh Tea o GaY T0A 9
AT T AR ST e T27el ag o= 8T Aol & TUT W= FEdrerd T a0
FEATC & die @ gl 1,000 TRHAT I T &, i 2,000 T T HA & ar
HTUART THT & &Y F U foA Frgma — 2

[Question ID = 160][Question Description = Q50_APO_PA_NAIR25FEB]

10
1.

[Option ID = 637]
12

[Option ID = 638]
15

[Option ID = 639]
Mone of the given oplions 1s correct.

4. U el & & H1S o I g B

[Option ID = 640]

Correct Answer :-
12

[Option ID = 638]

51)  The staff working in which of the following Quasi Railway Organisations are
eligible to get free medical aftendance and treatment facilities in Railway
Hospitals?

A Consumer Co-operative Societies.
B Staff Bepefit Fund Committees.

C. Railway Instifutes.

D. Railway Officer's Club.

FrataraT # & foee 315 Y0 99161 3 F1H S aTl HeanT Toid SAEaarat 7
A Farfere stTer 31N ST=IR AT STee &ie & a1 872
A, SUSIET T SrATET|
B. FH=HT e fafer wiafaat
C. ¥old §EA1= |
D. Yerd HTEHHT Ferd |
[Question ID = 161][Question Description = Q51_APO_PA_NAIR25FEB]

A.B &Conly
" FawA BaRC

[Option ID = 641]
A C&D only

FaeTA, CUTD

[Option ID = 642]



All the options, viz. A, B, C & D, are correct
3 maft fasey, 979 A B CHERD &EI 2

[Option ID = 643]
Mone of the given options is correct.

4 Rwa TEen 7 8 &1 o 98 S Bl

[Option ID = 644]

Correct Answer :-
All the options, viz. A, B, C & D, are correct
® waft ey, 39 A B.C 3R D EET R

[Option ID = 643]

52) sTAFF BENEFIT FUND (SBF) What is the 'Per Capita Contribution’ being
made annually to the SBF?
FHUIC o1 & (CHAIUE) THdUE 3 afaay fhar S aren 'uia cafed

T FE?
[Question ID = 162][Question Description = Q52_APO_PA_NAIR25FEB]

Rs.900/-
- Fg00-
[Option ID = 645]
R5.800/-
2. 5800/

[Option ID = 646]
Rs.850/-
3. %850

[Option ID = 647]
MNone of the given options is correct.

4 Ruaw Aded 7 &5 o Ter a6 ol

[Option ID = 648]

Correct Answer :-

Rs:800/-
® %800/

[Option ID = 646]



53) HEAD/ACTIVITY OF STAFF BENEFIT FUND:
(1) Women Empowerment Activities.
{ii) Recreation other than Sporis.
(i) Recreational facilities at Institutes -and Clubs, etc.
(iv) Scouts & Guides activities,

ALLOCATION AMOUNTS FROM THE PER CAPITA CONTRIBUTION:
A Rs28/-

B. Rs.25/-

C. Rs.36/-

D Rs22i-

Match the Head / Activity with the correct Allocation amounts.

T oet TS & eiarfatare:

(i) FTET TR Acia el

(ii) EOTHE | S HANTA

(iil) TEAT=AT 3 Forall 37TTe # AR S Hiaam
(iv) ThI3eT X anss afafarear

giey eafee STRET § 3Taea e
A T28/-
B. .25/-
C T.36L
D. %22/

sirarTafater @1 9i st am & e &3

[Question ID = 163][Question Description = Q53_APO_PA_NAIR25FEB]
(A (iB; (m):C: & (iv):D

[Option ID = 649]

2 (.G (n.D; (ui)B: &{iv)'f-\_
[Option ID = 650]

3 (iy:B; (iiy.D, (ii):A: & (iv).C.

[Option ID = 651]
Mone of the given options is correctly matched.

4 o ettt s s whr Ea & wATR AR A
[Option ID = 652]

Correct Answer :-

(A (B (i) & (iv)b

[Option ID = 649]



54)  Find out the CORRECT explanation for PREM?
A Participation of Raillway Employees in Management.
B. Parlicipative Representatives Engagement Machinery
C. Public Redressal Employee Machinery.
D. Public Rights Engagement Mode.
PREM t TolU T8T TUSE 10T @iai?

A TITETETA HTE To0d TFoonss o Hasifee
B. mifefimfea WaweTea vairerte Fefens
C. 9fees (ST TFears A=

D. gTecia UseH UIradie AlS

[Question ID = 164][Question Description = Q54_APO_PA_NAIR25FEB]

1 had A only.

[Option ID = 653]
wacl B only

[Option ID = 654]

Fdd C only.

[Option ID = 655]

MNone of the given options is correct.

oA fawedt F § 15 o FEr A6 6

[Option ID = 656]

Correct Answer :-

Fdd A only.

[Option ID = 653]

55)  How many years of service a Railway Employee needs fo complete for
applying for “Inter Railway Own Request Transfer (IRRT)" under general
condition?

T FEafa # 5ev I0d geawAT JU STl 9 e & v sHari &t
Toetey e &1 ¥ T T T &

[Question ID = 165][Question Description = Q55_APO_PA_NAIR25FEB]
10 years.

T qoay

[Option ID = 657]
3 years.

2. 33-.,&

[Option ID = 658]
5 years
3 s@m

[Option ID = 659]
hone of the given options is correct.

4 feu o fawedl 7 WIS ol w6l Aol ol



[Option ID = 660]

Correct Answer :-

5 years
® 5@

[Option ID = 659]

56) What is meant by “partial disablement’ under Employees Compensation
Act, 19237
A The disablement of a temporary nature.

B. The disablement, which reduces the eaming capacity of an employee in
any employmeni, in° which he/she was engaged at the time of the
accident resulting in the disablement

C. The disablement is of a permanent nature, which reduces histher
earning capacity in every employment, which he was capable of
undertaking at that time the accident.

FHEN FTaT AR, 1923 & ded "H e e & &1 Adad 67

A 37T YRl T Taememerem

B Tasraierar, S Tt saamll & e off Fn 3 H1S e T & ar &)
&H X Gl 6, ST a6 grieAl & 9Hd HERd 97 [ gionETaey
famermera g1

C. Taaererar veh Tt 9 61 8, S Ucde {9 & IHhT HTg I 4T T
T & F G 6, ToT9 a5 GUCAT & WAT w1 7 TaTH 91

[Question ID = 166][Question Description = Q56_APO_PA_NAIR25FEB]

A&B only
o AR B

[Option ID = 661]
A& C only.
2 Fawaskc

[Option ID = 662]
Allthe above (A, B & C).
3 e gsl (A, B AHNC))

[Option ID = 663]
MNone of the given options is correct.

4 T wedt 7 S F T SaT e B

[Option ID = 664]

Correct Answer :-
All the aboye (A BA&C)
¢ IET (A B AR C)I

[Option ID = 663]

57) What is the time limit stipulated to pay the compensation under Employees
Compensation Act, 19237

FHIT FHTET HIAFHTA, 1923 & A5 ATa I ST St & o0
e s e e 827
[Question ID = 167][Question Description = Q57_APO_PA_NAIR25FEB]
Cne maonth from the date it fell due

L rradiE§ v ESE




[Option ID = 665]
Six months fromthe date it fell due.

2. rmailiE Y o ARe.

[Option ID = 666]
Three months from the date it fell due.
3. raare adeager

[Option ID = 667]
None of the given options is correct.

4 Roaw et F TS ST w8

[Option ID = 668]

Correct Answer :-

One maonth from the date it fell due

* AR UEHEEL

[Option ID = 665]

58)  Under Factories Act, 1948, any adult worker shall not be required or allowed
to work in a Factory for morethan ... hours in-any week?

ol ¥fafaas, 1948 & gga, e ot aoes sifA® o el T §eae &
...... ¢ I HTEe G5 ach thae 4 & hlH &le bl HIa3dadl 96] g a1

AT AT Gl AT AN6T ?
[Question ID = 168][Question Description = Q58_APO_PA_NAIR25FEB]
54 haurs.
" sqEr

[Option ID = 669]
45 hours.
2. A5TE

[Option ID = 670]
48 hours
3. agwe

[Option ID = 671]
None of the given options is correct.

4 Roaw et F TS S wErag

[Option ID = 672]

Correct Answer :-

48 hours
¢ 4gEHE

[Option ID = 671]

59) Minirnurmn Pension as per 7" Central Pay Commission (CPC)is ....7

78 AT aeter AT O 1) o IR A e e

[Question ID = 169][Question Description = Q59_APO_PA_NAIR25FEB]



Rs.5,000/-
% 5.000/-

[Option ID = 673]
Rs.7,500/-
+.7.600/-

[Option ID = 674]
Rs.9,000/-
%.9.000/-

[Option ID = 675]
MNone of the given optiens Is correct.

4 Tew e famedt 7 O 15 off Ty AT B

[Option ID = 676]

Correct Answer :-

Rs.0.000/-
T.9.000/-

[Option ID = 675]

60) Which of the following is CORRECT abouit the Study Leave?

A The maximum amount of study leave, which may be granted to a
Railway servant, other than Railway Medical Service Officers, shall be
ordinarly twelve months at any one time.

B. The maximum amount of study leave, which may be granted to a
Railway servant, other than Railway Medical Service Officers, shall be
twenty-four manths in all during the entire service of a Railway servant.

C. In respect of Railway Medical Service Officers, study leave may be
granted for thirty-six months for acquiring post graduate qualification

D. During study leaves availed in India, a Railway servant shall draw leave
salary equal to the pay that the Railway servant drew while on duty
immediately before proceeding on such leave, In addition to the
Dearness Allowance and House Rent Allowance, as admissible.

AT HGHNT & oy & FEafatag S g sl araerd?

A g Ffercar Gar sfawiE! & Sisat 399 90 FHTN &) UF JaT 7
TeT ST aTer 3= gaiel i HTEsad Jafs SHAead: Uk g 7 aRE
L]

B. Yora Tafascar dar AfEeia & renar ol o &ardl & &7 S areir
I HeAFTT 1 HOrher# rafey, Yerd sar=my Y gy ar F et Fer
Tremmart =it #EmT a1

C. Yord TEidoem Sar ATEFINE! & JFer 7, Ta a9adl 9ed &t
& AT oeig AERT & o0 3eags Faen Taied Sl o 9adl 6

D 8N & g @0 90 320 3aal & 2R, s (od S
AR AEATS e AT FaTer TR 8 o 3ehaT, 3§ a0 & adead
HAFTY I TIod FEN S {6 S F W gedl W AW § 8%
oger SET & el frm oy

[Question ID = 170][Question Description = Q60_APO_PA_NAIR25FEB]
A, B & D are only correct,

1. Hhga A BIRDTEE

[Option ID = 677]



A, B & C are only correct

o A, B3R C TErEl

[Option ID = 678]
All the options, viz A B, C & D, are correct
3 maf faweT AT A B, C 3 D TET 2]

[Option ID = 679]
MNone of the given options is correct.

e aie fawedl & G w15 off T8 8T 61

[Option ID = 680]

Correct Answer :-

All the options, viz A B, C & D, are correct
* maft faweT A B CHR DTG

[Option ID = 679]

61) The grants/awards from the Compassionate Fund of the Government of
India can be sanctioned subject to fulfilment of which of the fellowing
conditions?

A, The fund is intended for the relief of the families of Government servants
who die in service and who were paid from the Consolidated Fund of
India:

B. The deceased Government servant should have served in any Civil
department of the Government of India or under a Union Territory.

C. The cases of an exceplionally deserving character where the family is left
in indigent circumstances:

D. The deceased officer must have been a meritorious public servant
Unusually meritorious service gives special claim for consideration.

YT TR 1 Heghr A § e Weafafga & § feg o

T G F WY TP [ ST T 57

A I WS 34 WY S & 9RERT &1 I & & fav § iaEasy
a1 F G A 6 STl § A T9ef e &1 5 At & spErae
[EzugEicigl

B. Hel WY FHATY T R WER F R ofr Rfae fawmr ar &=
MTIT UG & Tod TaT AT A60 o)

C. 3TERIRTT &9 A AT I & AlTel ST61 TaN &1 IRe TR 1
oI5 e amm gl

D. Al ey U Sehse ok Oad 7 T8 811 A §9 § TG
¥ar TR & fov faenr grar & £

[Question ID = 171][Question Description = Q61_APO_PA_NAIR25FEB]
A B & Dare only correct.

ger A BHN DEEr &1

[Option ID = 681]
A, B & C are only correct

2.
Fad A, B3R cHEr 8
[Option ID = 682]
3 All the options, viz. A, B, C & D, are correct.

Faft facew, 372 A, B, C 31T DEET &1

[Option ID = 683]
MNone of the given options is correct.

4 v aw Tamedl F @ #E o gl A8 &)

[Option ID = 684]



Correct Answer :-

Allthe options, viz A, B, C & D, are correct.

Tt fowey, 372a A B, C ¥t DEEr &1

[Option ID = 683]

62) Which of the following is CORRECT about the Selection panels drawn for
promotion within Group 'C posts?

A The panels drawn by Selection Board and approved by the competent
autharity shall be current for two years from the date of approval by the
competent authority

B. An employee who once officiates against a non-forfuitous vacancy in his
turn on the panel whether against a leave arrangement, deputation or
temporary transfer of another employee vacating the post. shall nat be
required to appear again for fresh selection.

C. In case an employee lower in the panel has officiated whereas one higher
in the panel has not officiated for reasons beyond the latter's control such
as sickness non-released by the administration on promotion, the latter
employee will not be required to appear for fresh selection.

D. In case the senior person in the panel does not officiate for reasons of his
own, this implied that he has refused promotion. In that case, the next
juniar is the nghtful person to be promoted and the employee who is
deemed to have refused promotion will not be required to appear for fresh
selection.

T T UEl O¥ Geleetd & [0 aifed foht 1T = dael & des & feafatad
HY Bla wrwdr i
A T AYS CERT AR 3 FaT Wi gy A e Ao TaTe QI
Eany AHIGH &1 TR ¥ &1 |6 o AT W
B. Ut SHART Sl U ai el & H9<T anT & v dR3meieas RiEa &
e S ST §, 716 a6 Ged) & caaean, gfafaafe o ug arlt &
ATer o 3o e e o T TR & BaTa #7 81, 39 A0 9301 &
TorT Tty 3 SOy g1eT T FTa9Tsar a1 &ai)
c. afg daa & FEa o AT Haan F 14 ar g, Jafe daa # 30 F
FEMTIc o s T T et S e A e s, o
g TeaATel 9T FRITH= AT ST o o1 378 Ay, ot a1 arer e & 9499
# A1 T8 3UTREUd glef &l 3Tasdeha =11 aiall|
D. Iie d=e # afivo caldd H9e T4 & HROT F S A6] HLal &, ff SHHT
Aaoid T5 & [ 30 TeeAid O Sa5N & 69T o) 3% fufa 7, 3
FeTs5 Tl Bl H FhaR taiad & 3 oy T anT & eward
SAG L [T 3T HAT S0, 39 AT 99 & [T 398y gl 61
HTEITEAT 61 BT

[Question ID = 172][Question Description = Q62_APO_PA_NAIR25FEB]
A, B &D are only correct

Hhaor A, B 3R D TErEl

[Option ID = 685]
A B & C are only correct

2. A B3 CFEa Tl

[Option ID = 686]
All the options, viz. A, B, C & D, are correct.
3. waft fawew, 3ol A, B, C AR D war 81

[Option ID = 687]
Mone of the given options is carrect.

4 TEu aTw Taemen] & 1S 8 W6l 761 6



[Option ID = 688]

Correct Answer :- Deleted

63) Which Section of the Industrial Disputes Act, 1947, provides the Procedure

and powers of conciliation officers, Boards, Courts-and Tribunals?
yeafEw faae wfafags, 1947 & &9 W 9w Gas HfEwmEr, @6,
e HIT ST i afear J feaa deE S e

[Question ID = 173][Question Description = Q63_APO_PA_NAIR25FEB]
Section—11
HHET-11

[Option ID = 689]
Section -7
TR

[Option ID = 690]
Section —9
3. g
[Option ID = 691]
Mone of the given options is correct.

4. fevaw AFedt A g RS A adr g 6l

[Option ID = 692]

Correct Answer :-

Section —11
L]

HRT-11

[Option ID = 689]

64) As per ... of the Factories Act, 1948 in every factory wherein

wo.—. ©F more workers are ordinarily employed the occupier shall
empluy in the factory such number of welfare officers as may be prescribed,

Fill in the blanks with correct options among the following:

there Sy HfOTorgs 1948 % % 37O, Weldw e D A el A
e WA FRRE &, AR/ 38 harel # e doaror ATaHa
&1 o s e faraer fafa e
TAFATTEd 7 T o7 faeed o [ed T 871

[Question ID = 174][Question Description = Q64_APO_PA_NAIR25FEB]
Section - 48 and four hundred.
TRT-48 vd 9 |t

[Option ID = 693]
Section - 48 and five hundred.
2 ymr-49 va urg At
[Option ID = 694]
Section - 50 and one thousand
3. YW1 50 U4 UF AN
[Option ID = 695]
Mone of the given options is correct.

4 e famenl 7 § 1S o wET AR B



[Option ID = 696]

Correct Answer :-

Section - 48 and five hundred.
HRT-49 Tq a7 =t

[Option ID = 694]

65) ‘Which of the following is INCORRECT with regard to Reimbursement of
Children's Education Allowance (CEA)?

A CEA for Divyang Children i1s payable at double the normal rate.
B. CEA /Hostel subsidy can be claimed for two eldest surviving children.

C. Hostel Subsidy and Children Education Allowance cannot be claimed
concurrently.

D. In case of retirement / removal from service, reimbursement of CEA [
Haostel subsidy shall admissible till the end of the academic year.

st 3 foa sy (rST) S afaft & weel o Pratafam g ST e e &7
A Tecamr st & fov dise SiHw & S19F el W ed bl

B EIHad a5 SiiTad aoal & [T SISu/aTeed Tieqal T 21aT (ol = Gl &
C. AT Sieds! HIT arer [EI6TT S &1 U G1Y gTdT w151 [l =T Sahal gl
D. FaTfeig /T § GeTT Tiey 1 [extal 31, Swomnsman Seas & T

etaTToTer a9 & 3 d TdihrE g1l
[Question ID = 175][Question Description = Q65_APO_PA_NAIR25FEB]
D only.
Faa D,

[Option ID = 697]

C only.
el C

[Option ID = 698]

B only
3 FaerB.

[Option ID = 699]
Mone of the given options Is correct

4. v feedt & & #1S off vl =8 &1

[Option ID = 700]
Correct Answer :-

Z only.
el C

[Option ID = 698]



66) For joining the Retired Employees Liberalised Health Scheme, 1997
(RELHS-57), the minimum required condition of 20 years of service is NOT
applicable to which of the following categories?

Yarfedcd wH A 3ENIET Tares Alstar, 1997 (ARSTaUaTy,07) & arfde
BYeT & ToTT e T 5 20 TToT 26 ST O el 27 27t Teiaettoraet a1 9 e e
Y T 18T BYAT?

A The employees, who retire at the normal age of superannuation.

B. The employees, who die in harness, while inservice.
C. The employees, who get medically invalidated, while in service,

A FFEET S Afaiddr 1 38 F yaEaca g £
B. THANRI [oieten] Hcd Halieigid & Teel Sal & GO 6T AT 5
C. wHan 98 dar & R AThTcas §9 @ Aqoged S1ud ar At

[Question ID = 176][Question Description = Q66_APO_PA_NAIR25FEB]

A & B alone.
1 FaaAlRB

[Option ID = 701]
B & C alone.
2. FFABUAC

[Option ID = 702]
All the options, viz A, B & C.
3 g ey, T A BHRC

[Option ID = 703]
None of the given options.

4 oA fawedl 7 O &S o 9h AT B

[Option ID = 704]

Correct Answer :-

All the options, viz A, B& C
*  Feir e, sruTa A B ARG

[Option ID = 703]

67) Under the Railway Servants (Hours of Work and Period of Rest) Rules,
2005, the post of Saloon Attendants js classified as ....._.7

YA AN (T & a3 TR &1 rafe) faw, 2005 F d60 e e d

[Question ID = 177][Question Description = Q67_APO_PA_NAIR25FEB]

Intensive.
1. A
[Option ID = 705]
Continuous
2 e

[Option ID = 706]
Essentially Intermittent.

METS F T HOHES

[Option ID = 707]



Mone of the given options is comect.

4. U av fawedt & @ 15 o 9@ a9 B

[Option ID = 708]

Correct Answer :-

Essentially Intermittent.

HES 9 F HOLEHE

[Option ID = 707]

68) Daily allowance If absence of a Railway employee from headguarters

exceeds 6 consecutive hours but does not exceed 12 consecutive hours,
then the person is entitled to recetve which of the following?

&forer srar AT et Yord sl ol FEaTerd § YRl S 6 5T
FHTE & oiTchel ol 12 € § HTUS A61 6, 01 a6 caTad [AeaTel 1&d 8 o 7
OIce Y T GHEN B2

[Question ID = 178][Question Description = Q68_APO_PA_NAIR25FEB]

30% of the daily allowance.
I & T 30%.

[Option ID = 709]
T70% of the daily allowance.
2. 3w e e 70%.

[Option ID = 710]

Full daily allowance.

ot e sm

[Option ID = 711]
Mone of the given options is correct.

4 o Eedt # 4 S8 o o g )

[Option ID = 712]

Correct Answer :-

70% of the daily allowance:
* tfow s a 70%.

[Option ID = 710]



69) Which of the following is CORRECT with regard fo the Allowances for
Drivers drafted to perform the duties of Power Controllers / Crew Controllers?
A. Rule No. 1516 of CHAPTER 15 of IREC, Vol-l| deals with this Rule:

B. Allowance in lieu of kilometreage (ALK) of 120 kilometers shall be
admissible io Drivers drafted to perform the duties of Power
Controller/Crew Controllers, at the rates applicable to them

C. No TA/DA or special Pay shall be admissible to the Drivers drafied to
perform the duties of Power Controllers/Crew Conirollers.

D. Allowance in lieu of kilometreage (ALK) of 160 kilometers shall be
admissible to Drivers drafted to perform the duties of Power
Controller/Crew Controllers, at the rates applicable to them.

TR HE TeR /s She 1o 2 Shercdl] B T Sh4e 3 1T SISER| h 1T o feht are

T Ted A Ao ad A TR TR a7

A, TSRS, Wl & 3773 15 & 508 ST 1516 59 =08 O gatad 5

B. UTE FZIUE FETAT & Hcdl & qU Tt & (o0 e ssadi #1120
TeelTaex & feheiiIex & el $7eT (UUah) 3o 9 oiTd] 631 9% Talenr Gl

C. TR FE FIOR & Fedt F T & T g geat & A
Erurde oy faery daer wdierd w8l g

D. UTER HETOUE HETON o hefcdl Sl INT B oh [0 e Sread! &l 160
TeRoiTHTE o farof#Te & acer $7aT (TUTeh) 3o IR o113] GX1 9X EdiehTd Grat|

[Question ID = 179][Question Description = Q69_APO_PA_NAIR25FEB]

A &B only
Fad A HTB

[Option ID = 713]
A B &C only.
2. FamA BIFRC

[Option ID = 714]
A T &D only.
3. F@@A CTaD

[Option ID = 715]
Mone of the given options is correct

4 RuanReedi A A RS s udr A

[Option ID = 716]

Correct Answer :-

A B&Caonly
® HaamA BIHRC

[Option ID = 714]

70) Online learming platform developed as an integral part of the Digial India

stack for capacity building of all gevernment employees, providing ‘anylime-
anywhere-any device' learning to train the users is called as..____ ?

elT T eI Rl &THAT AT o folT [Bfted siEar e & U Afdlea
HIT & w7 AT HaTs Ao e wie, ST HT &I AANTEIT T4 &
fore wsfy sft- et ol oy off Foamsey W o T AT R AT R 5
e STl 67

[Question ID = 180][Question Description = Q70_APO_PA_NAIR25FEB]

IGOT Karmayogi portal.
1 iGoT FEaE Oew

[Option ID = 717]



Anubhav portal.
2. e e

[Option ID = 718]
CPGRAMS
3. difishismoeHaTyg

[Option ID = 719]

MNone of the given options is correct.

e ate fawedl & 1S off T8 8T 61

[Option ID = 720]

Correct Answer :-

iIGOT Karmayoai portal
*  IGOT FHaET OeT

[Option ID = 717]

71)  Which of the following isfare CORRECT about the Supernumerary post?
A, ltis shadow post I.e., no dufies are attached to such posts.

B It is always a permaneni post. But should normally be created for a
definite and fixed period sufficient for the purpose in view

G. It 15 personal to the employee for whem it is created and no other
employee can be appointed against such a post. Further, it stands
abolished as soon as the employee for whom it was created vacates it on
account of retirement or confirmation in another regular permanent post
or for any other reason

D. No extra financial commitment is involved in the creation of such posts in
the shape of increased pay and allowances, pensionary benefits etc.

AT O & an # eafaiad & 9 &9 9Ud w6 i

A. TF BTG & 11 OF 92T & H15 Hoed 767 937

B. TG WiT UE TUTr 0g BT §1 e 3T A 0% SEed Y e Y T v
v Afvag 3 feaa aafa & oo gamr = gy

C. Tg 3HFaa & favcafadna & foms Rosy s g a3k i aea
TN T O TG T TAGE A6l b ol Wenel | S 3TN, SN 61 9%
weany foreeh AT 5@ awmr @ g, Jarf=gh ar feer s afag
Tt U O IS & HROT AT e 3o d RO ¥ 5§ TRl & &l &, a1 59

AT & e AT &l
D. O el & For & 5 gv O i ot e afE & v A A
ot fad aftagerar anfae =81 &1
[Question ID = 181][Question Description = Q71_APO_PA_NAIR25FEB]
A B&Caonly
. FawA BHRC

[Option ID = 721]
A B&D only.
2. Faa A B3IHRD

[Option ID = 722]
Allthe ophions, viz A, B, C& D, are correct
3. gofy sy, 3fT A B, C R D EE &

[Option ID = 723]



Mone of the given options is correct

4. feu o faeedt & & 1S off od) =8 &1

[Option ID = 724]

Correct Answer :-

Allthe options, viz A, B, C & D, are correct
*  wsf fawey, ¥9ia A, B, C R D ¥ &)

[Option ID = 723]

72) Which of the following isfare CORRECT about the Child Care Leave?

A A woman railway: servant having minar children below the age of eighteen
yvears (an offspring of any age in case of disabled children) may be
granted Child Care Leave by an authority competent te grant leave, for a
maximurm period of two years (i.e. 730 days) during the entire service for
taking care of up to two children, whether forrearing or to look after any of
their needs like examination, sickness etc.

B. Child Care Leave shall not be granted in more than 3 spelis in a calendar
year with each spell of Child Care Leave being not less than 5 days.

C. Child Care Leave shall be admissible for the two eldest surviving children
anly

D. Child Care Leave cannot be combined with leave of any other kind.

TSl ST AaH & Ty 7 Prafag # I ola 9 aer e

A UF Hige o FHE, TS 3oRE a9 9 &H 39 & Aane g &,
(TeremoTTaT el & HEe 3 Tl off 38 o Hare) & B! & & fov Tam
QITEIERIT AT HIEHhcTH Gl FTeT ol Sa e o Tore arel @ sITe Hahrer iear
ST R & (3727 730 o) 8 i % e aF a=at o Y sase &
fore, =g uTera-utyoT & Tore gY ar I=ehr forgt s =i o, @arr e
T @A & W)

B. @TeT ST T U thelst @y & 3 § 31T a =80 fgar Siean AT
Tedieh del ¢@HTel a3l ol T 5 Tee o &5 nl 6|

C. 9Tl EWHTer AT Faol &1 Tad a5 SNad aodl & [T TAFR B

D. &6l G 81Tl HawmIRT ] [ehd ] Hed ST o Saen1el & G120 a1 SA1S1 =11 Sidl
gl

[Question ID = 182][Question Description = Q72_APO_PA_NAIR25FEB]
A B &C only
. FawA BiRC

[Option ID = 725]
A C&D only
2. ¥a@ A CUdD

[Option ID = 726]
A B&D only
3 FawABIRD

[Option ID = 727]
Mone of the given options Is correct.

4 R REedt T ES R ad g

[Option ID = 728]

Correct Answer :-

A B &Conly
® FawA BHRC



[Option ID = 725]

73) A skill development programme, under the Ministry of Indian Railways and
Ministry of Skill Development and Entrepreneurship, for the unemployed
youths of India to impart technical training in various trades to enhance their
employability and entrepreneurship, free of cost, imparted in Railway Training
Institutes for eligible youths across the country is called as....7

Yo UTAIETOT & SEUTT 3 Yol HATORT A shterer fashmy 3R Ieg@ar Ao &
6 $R o RISTaR aTHT & Fateh! TR 4TACT 3R Seaesiicr & aer= &
Fore qeim [afeiest carawsrai # eneiichl HTAATOT HeT= = & [oC S5 # fealer
it [dere Srdd# qieaTor fear =i 8, f9s —— @el i 81

[Question ID = 183][Question Description = Q73_APO_PA_NAIR25FEB]

Skill Acquisition and Knowledge Awareness for Livelihood Promotion
1. (SANKALP)

HTATTaeRT Taela & o0 Sl JTEARTT 3 AT ARG (GHeT)
[Option ID = 729]

UDAAN.
351

2.

[Option ID = 730]
Rail Kaushal Vikas Yojana.

3. ot e dieEn

[Option ID = 731]
Mone of the given options is correct.

4. fevaw Agedt A Y RS A adr g 6l

[Option ID = 732]

Correct Answer :-

Rail Kaushal Vikas Yojana
® I Fle faare At

[Option ID = 731]

74) \Which of the following is CORRECT with regard to the percentage of
reservation provided to Course Completed Act Apprentices (CCAAs) trained
in Railway establishments and possessing National Apprenticeship Certificate
(MAC) granted by the Natianal Council of Vocational Training (MCWVT) in
Railway recruitments?

e gfasemT # ufifad F9 wrales vae Ui 31T IS caamias
SfRraToT o ie (TASTEET) SaRT T a0 SR AT SATL-UF TET ey S
Foiles vae UiTeed &1 Yord afdal 71 e o710 3eaor & 9iaed & 9oy &
fatafaa # g ala aragr g2

[Question ID = 184][Question Description = Q74_APO_PA_NAIR25FEB]

20% of vacancies in case of direct recruitment to posts / categories in Level-1

a1 A uenATOET OR wret st 3 AR i RIS F20%

[Option ID = 733]
25% of vacancies in case of direct recruitment to posts / categories in Level-1

2 T #F et AToET o Sl ot & e o e a5 25%

[Option ID = 734]
30% of vacancies in case of direct recruitment to posts / categories in Level-1

3. Praer & uEyATIET uv ST adt & s 7 Nieas = 30%



[Option ID = 735]
Mone of the given options is correct

4 Bwear REen A Y TS T wET e Al

[Option ID = 736]
Correct Answer :-

20% of vacancies in case of direct recruitment to posts / categories in Level-1

wael-1 7 Ug ATt o7 wrelt adf & Awerer & RiEaah #7.20%

[Option ID = 733]

75)  \Nhich ofthe following allowances of a Railway Servant are exempt from

attachment by order of court?

A All kinds of Travelling Allowances.

B. All House-rent allowances.

C. Children's Education Allowances.

D All amounts paid by way of reimbursement of medical expenses.

ToTe A o T Tor ey 91 91 Sler 37 83%7 wTTerd) & IS ol O kT 67
A 5T UHR & T T

B. Tt FehI=-Faram oy

C. =1t o 191671 #ey

D. Ferfercem e drafaafch & wres & sparare 1 ar wsft i |

[Question ID = 185][Question Description = Q75_APO_PA_NAIR25FEB]
A& B only.
1 FawARB.

[Option ID = 737]
A B &Conly
2. FHaa A B3IRC

[Option ID = 738]
All the options, viz A, B, C&D
3. @it fawey, 31MTHABC&D

[Option ID = 739]
Mone of the given oplions 1s correct

4 R fawedt & IS o war a1

[Option ID = 740]

Correct Answer :-
All the options, viz A, B, C &D
* [ faweT, FATABCE&D

[Option ID = 739]

76) As per IREM Volll provisions, the guorum required for a meeting of the

Central Executive Committee of the Trade Unions shall be . ... of the
number constituting the committee.

FTSHESTH Wl TTaeT=) & HequR, $5 Ifagat & FE FEr St
&1 sow F [T 3ETE FRA, iRt & 5T i aell & #- 5eml

[Question ID = 186][Question Description = Q76_APO_PA_NAIR25FEB]



25%

[Option ID = 741]
30%

[Option ID = 742]
20%

[Option ID = 743]
Mone of the given options is correct.

v fAeedt 7 G F15 s odr =T 61

>

[Option ID = 744]

Correct Answer :-

30%

[Option ID = 742]

77)  \Which of the following is CORRECT about the Staff Councils functioning in
Production Units?
A  Elected members drawn from as wide a range of different categories of
non-Gazetted staff as possible according to schedule drawn up by the
General Manager (GM) or Chief Administrative Officer (CAQ)

B. Mominated members will be Gazetted or non-Gazetted staff, nominated
by the GM or CAO or such other officer as he may detail in this behalf.

C. Co-opted members will be Gazetted or non-Gazetted Rallway servants,
nominated by the GM or CAQ or other officer detailed by him in this
behalf.

D. All non-Gazetted staff, excluding apprentices, with more than three years'
continuous service will be eligible  for election to staff Councils.

ICUTE SHISAT 7 BN BeTINT TIIGT o HGaT 3 TerFaToi i d 7 3 ohiel T TaT
B
A Toraifag wewt @ Aprvaye (ST a1 e e e (s
AR R TR T T & TR T S-S T S S
aTate= Ao § Far ST 6l

B. AT 96+ U9 21 -9t Saand ard, fores Siross ar dies
1 U I AR Gan AT d (ol ATUN SAHT G 58 Had # acl Sha
ol

C. FATad 9eTd U=aTaa ar IRI=a e Yo dwandy g, et siew ar
HIU3 a1 35 A 59 Haw F farad 3wy FT9En e Afaa far
e

D. et "o § HTerer i Today San arel STEEIHT & Bissy wall AusatET
FHAN AN GIE] & FATd & [oT aT= gl

[Question ID = 187][Question Description = Q77_APO_PA_NAIR25FEB]
A& B only.
1 FaaAsRB

[Option ID = 745]
A, B & C only.
2 FaaA B3IRC



[Option ID = 746]

All the options, viz. A, B, C & D, are correct
Hait fadey, 374THA B, C HRD §or 8

[Option ID = 747]
MNone of the given options is corest

4 e arw faeret 3 T 1S ofr wer 8T &1

[Option ID = 748]

Correct Answer :-

All the options, viz A, B, C & D, are correct
® it fawey, 319 A B, C #RD w8 &

[Option ID = 747]

[Question ID = 188][Question Description = Q78_APO_PA_NAIR25FEB]

Operating Ratio
" ol s

[Option ID = 749]
Return on Capital

2. ol o ATt
[Option ID = 750]
Wagon turmn-round.
3. Fmaess

[Option ID = 751]
Mone of the given options is correct

4 R wedt 3 F HS o Tl @ 1

[Option ID = 752]

Correct Answer :-

Operating Ratio
*  aRETe S

[Option ID = 749]



79) CATEGORIES OF CAljii) REFERENCES:
{a) Category-'A’", (b) Category-'B'; (c) Category-'M' and (d) Categery-C'.
EXPLANATIONS:

{i) Letters received from other VIPs ke Ex-Central Ministers,
Ex_-Ministers from States and Ex.-MP's, etc.

(i) All communications received from VIPs, viz. President of India, Vice-
President of India, Governors, Central Ministers, Ministers from States,
MPs, MLAs and Councillors.

(iii) F_e’Fters seen by PS to MR/IMOS(R), but not covered under'd’, 'B' and
{EV):EIE[ ;::ommunbcatiorss- on which M R./ MOS(R}'s remarks are made.
(i) et £ Aot
(i) (@) Amfi-w; (@) Aofiar; (&) Avii-we 3 (S Aol
TOSE LT
() e donsd S qd-Rdr AT, U & qE@ATE iR gu-areet
g | 9o 9H|
(i) THEAT HAT ARG & USgYd, HRT & IWSefd, TSH9T, Fa
A, T & w7, O, Aue A g & g o
(iii) THAW/CHFATE (AN) & JI0H Zdil ¢@ 90 94, ofiche T, ©@I AT
T & AT AT B
(iv) T OF T99 9T UH.AR/UANUE(N) @ IegEad 6l
[Question ID = 189][Question Description = Q79_APO_PA_NAIR25FEB]
Category-'A" (ii); Category-B' (i) ; Category-"M" (iv). & Category-'C’ (iii).
Ao (i), AT (i), ST (v): A== i)

[Option ID = 753]
Category-'A" (i), Category-'B’ (i) . Category-M" (i). & Category-'C" {iv).
Arofr (i), Aofr-dr (i), Aotr-wa () HTACT-ET (v)

[Option ID = 754]
Category-'A’ (iv); Category-B' (jii) , Category-'M": (i) & Category-'C' (i)
Arafre (iv): Aefr-ar (i) - Srefi-ee (i) 3R Aofiodr ()

[Option ID = 755]
Mone ofthe given options is.correctly matched.
Tu e fadmedt & § 15 ot wéT e § gATad A6l 51

[Option ID = 756]

Correct Answer :-
Category-'A" (i), Category-B' (i), Category-M" (iv). & Category-'C’ {iit).
® Aofw (i, Aofrdr (i) Aot iv): 3t AT (i)

[Option ID = 753]



80) Which of the following issues cannot be taken up for redress in
Centralised Public Grievance Redress and Monitoring System
(CPGRAMS)?

A RTI matters.

B. Court related / Sub-judice matters.
C. Religious matters.

D. Suggestions.

FrafaTaa i O e #5e #1 Farpa s (9 areT 3R e gomeT
(ETTSRRUTATH) A T5aroy & ol 61 38 =1 9&dr o7

A HTETHTS ATHS

B. #1aTeg O T To/earare e #Eer

C. enfds A

D. T

[Question ID = 190][Question Description = Q80_APO_PA_NAIR25FEB]
A B&Conly.
1. Faga A BIHRC

[Option ID = 757]
A, B & D only.
2 FaorA BIRD

[Option ID = 758]
Allthe options, viz A, B, C&D
et faeT, F9TTABC &D

[Option ID = 759]
Mone of the given options is correct.

4. Ruaw FEcdi AT &S fT Gir T8 a1

[Option ID = 760]

Correct Answer :-

Allthe options, viz. A, B, C&D
Tl fdehey, AATTABC&D

[Option ID = 759]

Topic:- APO_PB_NAIR25FEB

1) A faulty charge sheet has been issued to a Railway servant. Which among
the following would be the correct course of action?

Ww-ﬁﬁﬁmmﬁﬁmﬁwmﬁlmﬁﬂﬁ#
fFafoad # O wiadt sias 9gr geie

[Question ID = 191][Question Description = Q01_APO_PB_NAIR25FEB]

Issue a modified fresh charge sheet without cancelling the earlier charge
sheet and continue with the disciplinary proceedings, as the error can be
corrected during the further course of proceedings.

" ugd & ANY 97 & gg fev faen gefiE am 3R o3 S sy s
FANTACHE FRAE N W@, 4 3 f FheEr F e AT @
& fomm 51 T £

[Option ID = 761]



Cancel the earlier charge sheet and issue a fresh charge sheet, duly giving
reasons for cancelling the charge sheet and for issuing a fresh one.

z ORI 3T O @l TEE e 3 AT 3T I ST SR &P o fafdad &RoT
AT BT UG & HRIT GF &1 T65 Y H T AT HRIG T ST 3

[Option ID = 762]
The disciplinary action to be dropped altogether, without any further course of
action.

> e Tl 3l o e 3 ST T A Ol AN @ dg Y
|

[Option ID = 763]
MNone of the given options is corest

fow o oot & & 15 off 9T =8 &1
[Option ID = 764]

Correct Answer :-

Cancel the earlier charge sheet and issue a fresh charge sheet, duly giving
reasans for cancelling the charge sheet and for issuing a fresh one:

TIT Y O R TEE He S AT AT TF & AR S i fafad HRo
AT GO Tae & HRIT OF &1 IGE Y HIT AT HIRG T ST T
[Option ID = 762]

2) An employee, who was issued with a major penalty charge sheet, has
submitted a representation by alleging bias against the Inguiry Officer. To
which of the following authority, his representation shall be put up?

e Tl & A €5 &1 ART9T Ji e T § AR 3Ee S
SITEIHRT Y2 G&TIT &7 IR T §U HFAAE [GAT &) 3 HeAMaEe H
Teeerioirard #1 & foe WiferiT &7 S ehar Seen?

[Question ID = 192][Question Description = Q02_APO_PB_NAIR25FEB]
Disciplinary Authority.

1.

[Option ID = 765]
Appellate Authority.
Fdreler oifermrr

[Option ID = 766]
Revisionary Authority.
HafTers sg=Tarel gt

[Option ID = 767]
MNone of the given options is correct.

Ewarw famedt &1 & wig off wer = 1

[Option ID = 768]

2.

3.

Correct Answer :-
Revisionary Authority.
HRITeT SieTarel JITEEnT

[Option ID = 767]



3) RULES MENTIONED IN THE RAILWAY SERVANTS (DISCIPLINE &
APPEAL) RULES, 1968

Rule13; Rule 14 (1); Rule 14 (i}, and Rule 14 (iii).
EXPLANATIONS:

A Where the President is satisfied thatf in the interest of the security of the
State. it is not expedient to hold an inquiry in the manner provided in
these rules.

B. Where the disciplinary authority is satisfied, for reasons to be recorded
by it in writing that it is not reasonably practicable to hold an inquiry In
the manner provided in these rules

C. Where any penalty is imposed on a Rallway servant on the ground of
conduct which has led to his conviction on a eriminal charge.

D Common Proceedings.

Match the Rule Nos. with the CORRECT Explanations.

Iod dHANT (e vd wde) faaw, 1968 & Ifeiad faue:
foaer 13; =37 14 (); =79 14 i) 31 =79 14 i)
TOSEIHR{eT:
A. STET UScUld 59 aid § Sose b IF =g & W & fBd A, 549
AT # v v JdF 9 T SO GHEE A6 ol
B. STl =TT NSRS aTd & Save & 13 e &9 8 gof R A=
el FRUT F 54 AT § g v av gl e s sRa s
TR 761 6
C. S5 forer To0a FHEaT OF ITET & HIOW O #15 65 o 4 § S
O] I ATIEIh R 7 GIST oG 747 &
D. TET FEART |
oraw et FY T8 TS J1Y Fe
[Question ID = 193][Question Description = Q03_APO_PB_NAIR25FEB]
1 Rule 13; A, Rule 14 (): B; Rule 14(ii) G; & Rule 14 (ii)): D.
T 13 A e 14 (i) B; Tame 1440y CG; 3 =38 140i): D.
[Option ID = 769]
Rule 13: D; Rule 14 (i): C: Rule 14(ii): B: & Rule 14 (iii): A
Toma 13: D; o= 14 (i) C; e 14(i): B; A Fas 14(i): A
[Option ID = 770]
3, Rule 13: D: Rule 14 (i): A; Rule T4(ii): B, & Rule 14 (iiii): C.
e 13: D; Thaa 14 (i) A; 137 140i0): B; 3R 985 144iii): C.
[Option ID = 771]

MNone of the given options is correctly matched.

* Ruaw REed A Y A T e U a2

[Option ID = 772]

Correct Answer :-
Rule 13: D; Rule 14 (i): C; Rule 14(ii): B: & Rule 14 (iii): A.
formm 13 D; T9a# 14 (i) C; FE# 14(1): B; 3 T@# 14(i): A

[Option ID = 770]



4) ‘Which of the following is CORRECT about the Rule 25 - Revision of the
Railway Servants (Discipline & Appeal) Rules, 19687

A. Mo proceeding for revision shall be commenced until after - (i) the expiry
of the period of imitation for appeal; or (i) the disposal of the appeal
where any such appeal has been preferred.

B. Where the Revising Authority proposed to impose or enhance a penalty
or modify the order to the detiment of the Railway servant after more
than six months period.

C. Where the Revising Authority proposed to reduce or cancel the penalty
imposed or modify the order in favour of the Railway servant within one
year from the date of the order fo be revised.

D. Where Railway Board or General Manager, when they are higher than
the Appellate Authority, and by the President, even when he is the
E&;&eﬂaﬁe authority, revision can be done without restriction of any time

o 25 — Yo =Tl (3reimes AT ardien) ferm, 1968 & et & wesf &
A R g Sl TR a2

A. SIS & TOT IS Sdare! ad do 3F =61 &l JTCaT oTd e - (7) 3706 6T
ST T IETE TATCT o &1 ST, AT (i) ool & [A9er= oTaf U8 s 74Tl
HASE

B ST Felerst WiiSranT = oF Ferey 1o & s7afe & arg Yed Famy 7
BTN G5 4o AT TeTey AT & HY TeTee e & ST e &1

C. TGl Hellers WiEsNT o §enfaa swmaer &1 aifi@ & vk a & #fieR W
FHHAT & T84T 7 FANT T £S5 T T FH1 AT GG 1 AT HIeer &) qeifeag
et ol e A i

D. ST§T IFd a5 IO1 FET9a9s, S F J9e 0 Tifeai § F9¢aT, 3R ety
AR, STd dp Yol GIrEeRTd 61, J9 faer TR GHT SiET & giday &
HeITEr= [ AT el i

[Question ID = 194][Question Description = Q04_APO_PB_NAIR25FEB]

1. All the options, viz A B, C & D, arecorrect.
T oo, 3T A, B, C 3D @& 8]

[Option ID = 773]
A B & C are carrect, but D s not correct.

A B AT CTErg o D wér =g ol

[Option ID = 774]
A C & D are correct, but B 1s not correct.

ACERDIHE dFanudadid

[Option ID = 775]
Mone of the given options is correct.

+ T AT Taereql & § 1S ol 81 78 £l
[Option ID = 776]

Correct Answer :-
A C & D are correct, but B 1s not correct.

A, C 3D FErE, oifchel B W8T =761 &

[Option ID = 775]



5) In accordance with the Railway Servants (Discipling & Appeal) Rules, 1968,
against which of the following orders, no appeal lies?

A Any order made by the President.

B. Any order of an interlocutory nature or of the nature of step-in-aid of the
final disposal of a disciplinary proceeding, other than an order of
suspension

C. Any order passed by an Inquiring authority in the course of an inguiry.

O An order determining the subsistence and other allowances fo be paid fo
a Railway servant for the period of suspension / deemed suspension

eTE AT (AT vd 3dTe) e, 1968 & SR, eafaiaa 7 @

HTEE & TaeE @i 3T4Ter 6l &1 1T Hehcil?

A Trseyfd gantr fear arar et # sy

B Tmea & gy & wonan, el AAcHE FRanr & Ao
FIgere & AANE Yhid a1 TEradl &ie & Gahig & e sy 37

C. Tt S WIfeIeRR aan ot < & SR TG Tt e

D. foreraemTee foeas & ¥ate & o o soiur & e e
S A e 3R e o & AuRe S aen 3nee)

[Question ID = 195][Question Description = Q05_APO_PB_NAIR25FEB]
1. (A), (B)&(C) only.
el (A), (B) HIT (C)

[Option ID = 777]
;. (B) (C)&(D)only.
Faer (B), (C) 3T (D)

[Option ID = 778]
All the opfions, viz A, B, C&D.

> Tl fa@eT, 3799 A B, C&D

[Option ID = 779]
Mone of the given options is correct.

S o e S A o A A 2
[Option ID = 780]

Correct Answer :-
(A), (B) & (C) only.
&l (A), (B) 3 (C)

[Option ID = 777]

Under Rule 21 of the Railway Servants (Discipline & Appeal) Rules,
1968, which of the following provides Railway servants the ‘Instructions for

the Submission, Receipt and Transmission of Petitions to The President
of India"?

Tl eTa (HeTRmET i 37Ten) e, 1968 & =@ 21 & daa, Feafarad
A e Y ST Y A o S ol T AT S aher, WITed 31T
YT FT @ Taeg ey [Hear e?

[Question ID = 196][Question Description = Q06_APO_PB_NAIR25FEB]
Appendix-l of Indian Railway Establishment Code, Volume-|.

| SR T TUT9AT T edT S g, @5

[Option ID = 781]

1

2. Appendix-ll of Indian Railway Establishment Code, Volume-L
T (o TUT9=T |iean &1 gifese-l|, gs-

[Option ID = 782]
3 Appendix-l of Indian Railway Establishment Code, Volume-Il.
" HRAT Told ST Sl & gRierse-, @s-l

[Option ID = 783]



Mone of the given options is correct.

4 Rrarhme A IS Ao AR

[Option ID = 784]

Correct Answer :-

o Appendix-ll of Indian Raillway Establishment Code, Volume-1.
ST YoTe TUTHAT HigAT &1 gieferse |, @s

[Option ID = 782]

7)  Under which of the following circumstances, a petition submitted by a Railway
Servant to the President of India can be withheld by the prescribed Authornty?
A The petition is a representation against an order communicated to the
petitioner more than six months before the submission of the petition,

and no satisfactory explanation of the delay is given.

B. A previous petition from the petitioner on the same subject has been
disposed of by the President and the petition, in the opinion of the
prescribed authority, discloses no new facts or circumstances which
afford grounds for a reconsideration of the matter:

C. The petition is a representation against a decision which is declared fo
be final by any law or statufory rule.

D. The petition relates to a subject on which the prescribed authonty is
competent to pass orders and no application for redress has been made
by the petitioner to the prescribed authority.

rafefaa 7 & g aifEaf &, ve Toa Sl ganT 8Rd & aseafa &
T & 315 AT & el i IifSenT gany der ST Saal £7
A 3R g 1T O HEATaEA £ S Anfee GEdd ae ¥ O e § Ales
HAY U ARl 1 Giad fove o smeer & Faers 1§ {al a
&S HdYIae TISCIEHI0T 61 1541 T &
B. 33T a9 OX ATIeTanall bt orerell ITTIR] &7 [T Ieg afcl Gaml & feal
T & i e, i gt e &, S5 A0 gz ar aRretan
T GEATHT T8l ST & oIl FFA 9 A GG & (610 TR 917 HdT 81|
C. AfaeT 3 v & favey ver sreamdes & Fory fanelt anreler 2 dhenfoaves
o ean AfaH 0t S g
D, TrfereT v 0 v & gafaa & TS w Bifa ot sy oftg &=
# TaTH & 3% e gan uiRe wited & e & Rras
JTae=T =Tl (a1 I &)

[Question ID = 197][Question Description = Q07_APO_PB_NAIR25FEB]
_ {(A), (B) & (C) only.
Had (A), (B)3R (C)

[Option ID = 785]

(B), (C) & (D) enly.
&ae (B), (C) 3R (D)
[Option ID = 786]

All the options, viz A, B, C & D, are correct,
it e, 79T A B, C 3D &8

[Option ID = 787]
None of the given options is correct,

fErav GFrs g wE T g ae 6

[Option ID = 788]

Correct Answer :-

All the options, viz A, B, C & D, are correct
it fawre, 3efa A B, C 3D ®&TE

[Option ID = 787]



8) Inthe Railway Services (Conduct) Rules, 1966, which ofthe following
Rules deals with Prohibition of sexual harassment of working women?

Tord Far (HTERT) T, 1966 7, SEatoad J O &l O 308 s

Higem! & i Icdisa & iy S Haaag 47
[Question ID = 198][Question Description = Q08_APO_PB_NAIR25FEB]
1. Rule3A

TTRE3 A
[Option ID = 789]
5 Rule 3 B.
[CUERE:
[Option ID = 790]
Rule3C.
A3 C
[Option ID = 791]
4 Mone of the given options is correct.

few AT fasedl & & &5 5 GEr = &1
[Option ID = 792]

Correct Answer :-

Rue3C.
A c

[Option ID = 791]

9) Inthe Railway Services (Conduct) Rules, 1966, which ofthe following Rules
deals with restrictions regarding Marriage?
YTl TdT (HT=ROT) T30, 1966 7, TaeaTol @ & O Sia-9T [aaH fdar gaeT
giaadl S Faiaa a?

[Question ID = 199][Question Description = Q09_APO_PB_NAIR25FEB]

1 Rule21
T 21

[Option ID = 793]
Rule 22
T 22

[Option ID = 794]
Rule 20
e 20

[Option ID = 795]
MNone of the given options is correct

o fawed & & #15 off ger=mi o
[Option ID = 796]

Correct Answer :-

o Rule21
s 21

[Option ID = 793]

10) [f the date of birth of a Railway employes is 01.07 1964 on which date
hefshe will retire on superannuation?

Tt Tl T FeTandt &1 S« &1 aili@ 01.07.1964 & a1 a8 fovg alfi@ &1
sferarfiey ox arfEge glan?



[Question ID = 200][Question Description = Q10_APO_PB_NAIR25FEB]

1. 31.07.2024

[Option ID = 797]

, 20062024

[Option ID = 798]

3 01.07.2024

[Option ID = 799]
MNone of the given options is correct.

" fev A fameat & & 1 ot i e 8

4

[Option ID = 800]

Correct Answer :-
30.06:2024

[Option ID = 798]

1) on completion of how many years of service, a Railway employee is eligible
to apply for Voluntary Retirement by giving three months’ notice?

Teivetey @t & T T BT O, Ueh {0 nd =Tl o1 HE1eT al Ale | o] T 1o
Farieidi & TeT H1dge e & 91 Gla?

[Question ID = 201][Question Description = Q11_APO_PB_NAIR25FEB]

1. 20 years.
20 a9

[Option ID = 801]

30 years.
30Ty

[Option ID = 802]
10 years.

10 99

[Option ID = 803]
None of the given options is correct.

Y v e A g S ST gE A
[Option ID = 804]

Correct Answer :-
20 years.
209

[Option ID = 801]

12) The pension granted to a Railway servant who retires from service on
account of any bodily or mental infirmity, which permanently incapacitates him
for the service, an submission of a medical cerificate; from a duly constituted
medical authority, of his permanent incapacity for service due fo bodily or
mental infirmity is called as.......7

Uk YT SHART iT fohgl! eMIRes AT AT T I6THAT, ST 39 a1 & foe wari
TG G HETH T ol © AT Tk Tolv TUTAT 3BTHAT &7 ToiohedT THIOT 94
Taferae e Efecer wiasRT can f&ar = &, @ 9ifsa giar & 39 2= &1
ST &1 AT A1 AATES HETHAT & BROT GaT O [HaTe S & 918 61 A=
ATell 39 Ff ———— I AT 67

[Question ID = 202][Question Description = Q12_APO_PB_NAIR25FEB]



Superannuation Pension.
Fferanfier Jor

[Option ID = 805]

Invalid Pension.

2. .
ARG G
[Option ID = 806]

3 Retiring Pension.

arfrate te

[Option ID = 807]
MNone of the given options is corfect.

4 oo Rwedl & @ #1590 Sl A &

[Option ID = 808]

Correct Answer :-
Invalid Pension.
HAWE qard
[Option ID = 806]

13) The pension granted to a Railway servant, who is retired on attaining the age
of compulsory retirement is called as .7

sifaar Yarfagfa 1 3 Ted e 9 SaTege g are Yo FHE B A
SATeT ATeIT 97T o] T TGl STl 67

[Question ID = 203][Question Description = Q13_APO_PB_NAIR25FEB]

Retinng Pension.

1.
arfere e

[Option ID = 809]
Superannuation Pension

FATEraTehT rereT

[Option ID = 810]
Invalid Pension.
HHAT Tt

2.

[Option ID = 811]
None of the given options is correct

fev v Teedl & § &% o g8 57 81

[Option ID = 812]

Correct Answer :-

Superannuation Pension

FATEraTTehT rereT

[Option ID = 810]



14)  \Which of the following correctly explains the Compassionate Allowance?

A The authority competent to dismiss or remove a Railway servant from
service, on dismissal or removal of the Railway servant may, if the case
15 deserving of special consideration, sanction the compassionate
allowance.

B Not exceeding two-thirds of pension or gratuity or both which would
have been admissible to him if he had retired on compensation pension.

. Not less than two-thirds and not more than full compensation pension or
gratuity or both which would have been admissible to him if he had
retired on compensation pension.

D. Sanction any percentage of compensation pension or gratuity or both
which would have been admissible to him if he had retired on
compensation pension.

TorEateriE e # 8 Sl-uT [aeerd qerar o7y 1 Tol carE HXc1 67?

A T FHIAT & G § aWEd F A1 GEl & GaTH WL, Tod HHan
FT TEREd B A1 5T W, A wwFen fady faaw & dead, o
#el Tl &4 bl &

B. ¢ @ FelehdT Y211 U FaTfeige Gl ol T=7eT a1 Iedel A1 g1l & gl-dars
G 3ifae 781, S 39 T g

C. 2165 & 5 6! 31T 907 He[ohar Gore & et an gl & e =t oA
3G TR gic afe; aE H3EsT FerE 9 Gariagd gl

D. 37T 21 AT IET AT &1 1 di5 81 Tcrre Saighd Y A1 39 Tl
BT afE, a5 HetendT T2 O Sanfaga eiarl

[Question ID = 204][Question Description = Q14_APO_PB_NAIR25FEB]

A and B only
&ae AR B

1.

[Option ID = 813]
Aand C only

z FaaT AT C

[Option ID = 814]
Aand D only.
haa AR D

[Option ID = 815]
Mone of the given options 1s correct.

fevaw Ree AT IS N wd a8 B

[Option ID = 816]

Correct Answer :-

A and B only
& A 3R B

[Option ID = 813]

15)  On availing the commutation of pension, normal pension is restored after a

period of....._.. 7
oy T FEGEYE & TS 3o IX, HAT 99 ......... e J1aTe & aTg dErer
&Y STl 67
[Question ID = 205][Question Description = Q15_APO_PB_NAIR25FEB]
’ 10 years.
Ctoad

[Option ID = 817]

. 1o years.
15 |Iel



[Option ID = 818]
20 years:

20 =TT
[Option ID = 819]

4 Mone of the given options is correct
- g A famedt H § 1S off wer 6 6
[Option ID = 820]

Correct Answer :-

15 years.
10 | IeT

[Option ID = 818]

16)  National Pension System (NPS) was introduced with effect from._ ..

SET aTe YOTTell (TAY 0w el 3 E ol 715 22

[Question ID = 206][Question Description = Q16_APO_PB_NAIR25FEB]

1. 01.01.2004

[Option ID = 821]

o 01.01.2005.

[Option ID = 822]

3 01.01.2003.

[Option ID = 823]
Mone of the given options is correct.

4 RrarREen Y Rsdrad sy

[Option ID = 824]

Correct Answer :-

01.01.2004

[Option ID = 821]



17)  Which of the following isfare CORRECT about the National Pension System
(NPS)?
A For premature exit before 80 years, complete (100%) Lump sum
withdrawal allowed, if the corpus is equal to or below T 5 Lakh

B. For premature exit before 60 years, if the corpus higher than ¥ 5 Lakh, at
least 80% of the accumulated pension wealth has te be utilized for
purchase of an Annuity providing for monthly pension to the Subscriber
and the balance 20% is paid as lump sum to the Subscriber.

C. For normal exit, complete (100%) Lump sum withdrawal allowed if the
corpus is equal to or below ¥ 10 Lakh

D. For normal exit, If the corpus is more than ¥ 10 Lakh, at least 40% of the
accumulated pension wealth of the Subscrber has to be utilized for
purchase of an Annuity providing for monthly pension to the Subscriber
and the balance 60% is paid as lump sum to the Subscriber

TS U gumell (04 o1 vF) & 9ay & AR fdv v gt # #ia-

Hifhl=-§ arFT TaT 87

A. 60 T & Yeor & Moy &y Rufy &, sow sndg fdr 5 ow &
TEL @ ITT FH g a1 TIOT UFHAT AR (100%) F HEAOT Y
HegATd &1 Srdm B

B. 60 Tl & ool oF TRy $r FEufd &, 39 &g iy 5 o ¥
#es B o FAT g5 U UM A ¥ 80% hr ufr @& I
HFEEET 1 AfGs T2 & &d Ul & @lgs & fav 3R 9w
20% 1 T T ITLT HTHASTAT Y Tehaed W & T &of & fow
o srET @feT)

C. O ¥9 ¥ [Faer &1 [Fufd 7, 390 S99 Ufer 10 @ & ${E)
7 IHY FH & A WIOT TR TR (100%) & HIGToT $T 3=ATT &1
S &1

D. §9a §9 § Reesr &1 Fufa &, 391 F09 uf 10 o@ § 3fF
o1 o STAT §% OR0= TR # & 40% T O 1 39T AT &
AGe 990 & 5 UoIdl & w@ligsr & v A 99 60% & afdr
&1 ITANT HTEET & UhAd U8 & &7 7 & & fov G s
Gy

[Question ID = 207][Question Description = Q17_APO_PB_NAIR25FEB]

1. A B&Conly
Faa A BHRC

[Option ID = 825]
B, C& D only.
Fae B, CTT D

2.

[Option ID = 826]

All the options, viz. A, B, C & D, are correct
aft fareT, araa A B, C 3R D e 8

[Option ID = 827]

3.

4 Mone of the given options Is correct.
" ToU A fawedl & § &g off 56l A6l ol
[Option ID = 828]

Correct Answer :-

Mone of the given options Is correct.

' RuawRErTa YRS et

[Option ID = 828]



18) At present, the employer's contribution under National Pension Scheme
(NPS)is__ ?

aE &, TS G DA uAdey) & Aeg FHGET & AeIee —
==

[Question ID = 208][Question Description = Q18_APO_PB_NAIR25FEB]
1. 14%

[Option ID = 829]

2. 10%

[Option ID = 830]
3 15%

[Option ID = 831]
Mone of the given options is correct.

+ o are fasheut @ 9 &15 ol TET A8 &1
[Option ID = 832]

Correct Answer :-

o 4%

[Option ID = 829]

19) Which of the following conditions for partial withdrawal under National

Pension System (NPS) are CORRECT t?
A. Subscriber should be in NPS atleast for three years.

B. Withdrawal amount will not exceed 25% of the contributions made by
the subscribers.

C. Withdrawal can happen maximum of three times for specified
reasons,

D. Subscribers have the option for submitting partial withdrawal requests
off line with ‘self declaration’ to the associated nodal officers / POPs.

=@y ¥ ¥ U7 g 9umelr (TANITE) F g8d A1 HET
o e o w22
A. HfFETATHT F 735 WoF WA H FF W FH 3 W @A F87 8§
B. 3gNa $1 S arelr T Hf¥ear ggm B 7w seee % 25% ¥
ferr =gl g =miRT|
c. fafése et & Rv 3w ¥ 3% 3 aw & e G o
Hha gl
D. wf#erar &1 A+ 3gIor &g HETOT Aser fUF/AImI F
=Y g AThaET # HEET F5 i F1 @57 7
[Question ID = 209][Question Description = Q19_APO_PB_NAIR25FEB]

A B &Conly
HaoT A, BIRC

[Option ID = 833]
A BE&Donly
Fad A B3RD

[Option ID = 834]



Allthe options, vizz A, B, C & D, are correct
geft fareg, 31ea A B, C3RD udr &)

[Option ID = 835]
Mone of the given options is correct.

4 Ruaw e AT FE A wE S

[Option ID = 836]

Correct Answer :-

Allthe options, viz A, B, C & D, are correct
weft faereg, 3ratr A B, C 3R D &8 &)

[Option ID = 835]
20) Which of the following is correct about the Compassionate Allowance?

A. A Railway servant who is dismissed or removed from service can be
considered for sanction of Compassionate Allowance, if the case is
deserving special consideration.

B. Full Pension or Gratuity or both which would have been admissible to
him, If he had retired on Compensation Pension, can be sanctioned.

C. Notexceeding two-thirds of Pension or Gratuity or both which would have
been admissible to him, if he had retired on Compensation Pension, can
be sanctioned.

D. Not less than two-thirds and not more than full compensation Pension or
Gratuity or both which would have been admissible to him, If he had
retired on Compensation Pension, can be sanctioned.

HIHT ¥ F TEy A Felies § § w9 @ 8

A TF @F FEI 59 @9 & s@ieg T e & ar ger e
g, 3¥ e o B Fey & v e R s e 7, o
ArHEeT 99N T= & Ieg g

B. 9O 921 I I=FE T g A 3§ Hd g1, I 98 FgAHET A
W HaTTwga gar, Figa fFar S wwar B

C. %o ar I=gdr o a=r H g @ afuw ofyr, S 3@ =y
grar, Ife 98 H3nasT S 9 HATagd 2, &g B S Wl €

D. g-fags & F7 F@ 3R Of Faasr § HOF 767 9o 1 =g ;W
g, S 3 =y g, 3fe 98 gyEer Yo W daifEge @,
=ipa fFar o1 g5 g

[Question ID = 210][Question Description = Q20_APO_PB_NAIR25FEB]

A& B only
" Faw AR B

[Option ID = 837]
A& Conly.
2. Fad A AN C

[Option ID = 838]
A& D only
} ¥aT ATED

[Option ID = 839]



None of the'given options is. correct.

4 Ruawfaren A e ueagd)

[Option ID = 840]

Correct Answer :-

A& Conly.
* daw A AR C

[Option ID = 838]

21)  First two digits in the works expenditure classification indicates?
Hohd o0 aR eI A WAH G HE FIEATAE?

[Question ID = 211][Question Description = Q21_APO_PB_NAIR25FEB]
The source of fimancing.

. focamrE

[Option ID = 841]
The Plan Head.
=

[Option ID = 842]
The Detailed Head.
3 o ofrd

[Option ID = 843]
Mone of the given options Is correct

4 Rwaw fawedt # A F5 o wET AT B

[Option ID = 844]

Correct Answer :-

The source of fimancing.

® TacowrEm

[Option ID = 841]

22) Due to merger of Railway Budgst with General Budget, ...

Yol dalc & HH dalc & Tdeld th SHH,......

[Question ID = 212][Question Description = Q22_APO_PB_NAIR25FEB]

Fayment of dividend has stopped.
SATSTST T ST e FEar ar &

[Option ID = 845]
Dividend has to be paid.
2. T T HITCAT el BT

[Option ID = 846]
Dividend provision made but not paid.
3. CITSTTRI T UTErITeT (T 34T lfchet 83T 2161 [eh T 31T

[Option ID = 847]



MNone of the given options is correct.

4. Tew e Tawedl & @ &1 oy 98 =8 &

[Option ID = 848]

Correct Answer :-

Payment of dividend has stopped.
TSI T S7ATEATT 0 e AT IR &

[Option ID = 845]

23) Powers o re-appropriate amount from one Plan Head to other resis with?

TR T U 2T of i ¥ g o o Faferer s i afear e g

[Question ID = 213][Question Description = Q23_APO_PB_NAIR25FEB]
Railway Board.
1. s

[Option ID = 849]
General Manager
2 AEIgaE

[Option ID = 850]
Principal Head of Department (PHOD)
3 e fasmameser

[Option ID = 851]
Mone of the given options is correct.

4 v fawedl F & 1S off wE 61 8

[Option ID = 852]

Correct Answer :-
Raitway Board.
* wyars

[Option ID = 849]

24) Annual Financial Statement’ referred to in Art 112 (1) ofthe Constitution of
India is otherwise Known as... .7

I & TTaem=r hTeRT 112 (1) # Sefdia arfts dn oo s g am @ o
AATAATE

[Question ID = 214][Question Description = Q24_APO_PB_NAIR25FEB]
Balance Sheet.

[Option ID = 853]
Finance Account.

2. faea drar

[Option ID = 854]
Annual Budget

3. s a=ie

[Option ID = 855]



None of the given options is correct.

e a1v aeul 7 O &1% off g8 ag ]

[Option ID = 856]

Correct Answer :-

Annual Budget
¢ afgs =

[Option ID = 855]

25) For mesting unforeseen expenditure, pending authorizatiory from Parfiament,
this fund is kept at the disposal of President of India?

HATEN I 1 I 4T & [1T, TG & FITHIOT Sl &, HA & e il
Fhrrg &g F wadrg?

[Question ID = 215][Question Description = Q25_APO_PB_NAIR25FEB]
Public Account of India.
1. S &I o ol

[Option ID = 857]

Contingency Fund of India.
2 R T HETERGAT

[Option ID = 858]
Consolidated Fund of India.
3. oI ol AT =i

[Option ID = 859]
Mone of the given options is cofrect.

S AU I T G | - e e o s o e T

[Option ID = 860]

Correct Answer :-

Contingency Fund of India.
® R F EEHEAT A

[Option ID = 858]

26) Goods and Services Tax (GST) can be categonsed as 7
HTeT 3 TaT HY (SATTHEN) B - & 5 7 A3Nehel Teh el 1T el &

[Question ID = 216][Question Description = Q26_APO_PB_NAIR25FEB]
Direct Tax
1. gemTEy

[Option ID = 861]
Indirect Tax.
FHYUCTET th

[Option ID = 862]
Professional Tax.

3. cummEfEE et

[Option ID = 863]



Mone of the given options is correct.

4. fevaw fAgedt A g RS o wdr aaT 6l

[Option ID = 864]

Correct Answer :-

Indirect Tax.
HUCTET T

[Option ID = 862]

27) Operating Ratio is the best index available with Railways to compare, which
of the following?

A. Performance of one Railway with other Railway.
B. To compare efficiency of one Railway in different periods.
C. Tochoose best performing Railway.

UTETeTe AT (e ol @ 37 & [oheeh! ot & [olT {ord & Hallts aehid
&

A. T Yord o TAYUTE ol ga Tord & fsdreeT &l

B. Tafsie=T 3raferal 1 veh g1 Yerd &1 gafar &

C. Tl fSTTe= e aTeil Yol ohT = il

[Question ID = 217][Question Description = Q27_APO_PB_NAIR25FEB]
A & B alone is correct.

1. HadAFTB Bl

[Option ID = 865]
B & C alone is correct.

1 FaaBUGCHEE

[Option ID = 866]

All the options, viz A, B & C are correct.
3 it 9oy, Ui A, B 3T C TEIE)

[Option ID = 867]
Mone of the given options is correct.

4 R e A SRS TR Al

[Option ID = 868]

Correct Answer :-

All the options, viz A, B & C are correct.
* gt fawe, 379 A, B3R C @ &

[Option ID = 867]



28) Which of the following is fare CORRECT with regard to the Standards of

Financial Propriety?

A The expenditure should not prima facie be more than the oceasion
demands, and that every Government servant should exercise the same
vigilance in respect of expenditure incurred from public moneys as a
person of ordinary prudence would exercise in respect of the expenditure
of his own money.

B. No authority should exercise its powers of sanctioning expenditure fo
pass an order which will be directly or indirectly to its own advantage.

. Public moneys should not be utilized for the benefit of a particular person
or section of the commurnity uniess— i) The amount of expenditure
involved js insignificant; or i} A claim for the amount could be enforced in
a court of law; or ii) The expenditure is in pursuance of a recognised
poliey or custom.

D. The amount of allowances, such as travelling allowances, granted to
meel expenditure of a particular type, should be so regulaied that the
allowances are, onthe whole, sources of profit io the recipients
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[Question ID = 218][Question Description = Q28_APO_PB_NAIR25FEB]
A B &Conly
1. &aerA,B&C

[Option ID = 869]
A C&Donly
2. FGFTA C&D

[Option ID = 870]
All the options, viz. A, B, C & D, are correct.
3. gofi fameq, AT A B, C 3D Wer &l

[Option ID = 871]

Mone of the given options is correct:

4 fovaw et & ¥ F% o aE A8 2

[Option ID = 872]

Correct Answer :-

A B &Conly,
® FaaAB&C

[Option ID = 869]



29) |pAS stands for?
ST 1 T -

[Question ID = 219][Question Description = Q29_APO_PB_NAIR25FEB]

Integrated Payroll & Accounting System.
1 RS Y (e U SIS T e

[Option ID = 873]
Individual Personal Assistance Services

2. STRfasTTer e ST wae

[Option ID = 874]
Internet Payment Authorization Service.

3 Zexere T SiTANESeE aiaa

[Option ID = 875]
Mone of the given options is correct.

4 Tev e faemedr # IS o Wer A B

[Option ID = 876]

Correct Answer :-

Integrated Payroll & Accounting System.
® RIS Y U9 US Hais e aeeH

[Option ID = 873]

30) ‘Which of the following i CORRECT about the CLW pattern Incentive
Scheme?

Ao It 1s based on the time:saved by workers against the prescnbed time for
each activity set by the work-study group.

B. Itis so designed that a reasonably efficient worker should be able io earn
33.33 % incentive.

G. The maximum himit set is that the employee cannot save time more than
50% of the allowed time for an activity, i e more than 50% saving in time
will not be eligible for incentive benefit

D. The incentive earned is dependent on the collective performance of the
roup.
m%%&ﬁm.m*mﬁ#ﬁmﬁﬁﬁﬁﬂﬂﬂﬂmﬂﬁﬁ?
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C. Fuifa afean dmas & & wean far afafafe & e wdied 997
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[Question ID = 220][Question Description = Q30_APO_PB_NAIR25FEB]

A B & C only.
" ¥awa BIHRC

[Option ID = 877]
A& D only.
2 FaTATED

[Option ID = 878]



All the options, viz. A, B, C & D are correct.
3 mei faweT #UTHA, B, G 3T D FETE)

[Option ID = 879]
MNone of the given options is correct

4 R REed A T ES R A gl

[Option ID = 880]

Correct Answer :-

A B &C only.
® ¥awA B3IRC

[Option ID = 877]





